 gefreft NTA z/rermous wham, . 2020/ 2021
T Toram

STET Wigd fgefia yya-us &1 &

prfra firfr - 27.12.2021

Which colour combinations are wused in
achromaltic colour schemes?

sravias v dreen § fEw G daes @ e

e wmar £

(a) Opposite colours/fagdim &

(b) Primary colours/mafi® T

(c) Sccondrycoluursf‘ﬂ'ﬂT'{"'r

(d) Value variation of neutral colours

A T TR

Ans. (d) : 3auTE {1 o & SEdA O & e F9WR
foar s 21
i i1 I & WA § |ke, @, @ oW
Haraa far sm 8
T Ttk € AR o T W § w2 7 @ e
1 T ¢
TR 1 few 3odm fRd o @ oo ok T R &
fore fr o @ SR TerdW 1 1 weeg i T f
Fren 3 WHE 7 T w1 q =R M e @
foma Fugm faredt ot a7 & M @ | la e w@
o ae A fFm om 2 @ 8 1 760 & o ¢
i = 3w fml fm O f 9t & e s € 9
T {1 37 S F)

1. Match List I with List 11
=it 1= g 1R gt s
List I/t 1 | List [/ 10
Adopter categories/ | Estimated distribution
in population/sdwEAT
o s famror
A. Innovators 1. 13.5%
B. Early Adpters 1. 2.5%
AT TSI
C. Early Majority 111 16%
yRitee aaema
D. Laggards IV. 34%
q LIE]
V. 44%

Choose the correct answer from the options
given below:

et faw mo Rraedt # | wft 3w g

(a) A-1,B-1,C-1V,D- 11
(b) A-1,B-1V,C-V,D-1
(¢) A-1I,B-1,C-II,D-V
(d) A-1ILB-1V,C-11,D-V

Ans. (a) : g1 13 T 118 goem
TermTd e e § amsfera
A. TANETH 2.5%
B. T A 13.5%
C. "Rfta Jgt 34%
D. vaEfda eF 16%
3. A comorbid means
TEE T WAEd 3T £
(a) a cognitive impairment can shorten
lifespan/UF HAEI &fa dfaAw@ &t g
el

(b) a condition can appear independently and
have a detrimental effect on performance/T&
Rafd =d7 &7 @ 7= & o & IR s
T @RS W99 25 T 2

(c) a disorder or condition that may co-occur
with another disorder or condition/T% fFR
71 feafy <t AR = fem o Rafa & @ @
T 2

(d) absence of diseases or medical conditions/T
77 Rafem & Rafy &t srufafn

Ans. () : §gs = Wiem U e @ Rofr ot R
¥ fEn @ Raft & @9 & g&d@ &1 wEe @& qoed
e @ & T f, mEem sEw 3w @
Heffd T 2 W IR UH-gE & A §e-siftae § o
¢, o 5 A ok M e S o @
a dse Raf & %0 2 TR ¢, OfFT = e d
et 3= ffn o ddfim o fefdmn Roft & o &
Za1, Comorbidilty T% a1 3= 3feRem vmi o/ &t
Iuftafy & 7% &4 Tl wEad @1 GNad O SEihE I
% T Fmr &fE s ol Rl & soa @1 9ol
F & S O AR I0 I & @ s R $ s
& w0 2, 3 @ Wik o wAehE & 9 8

4.

For making a dress with kasuti embroidery,
which of the following motifs will you use?

FUA HEE & WY TS Uens @A & faw,
amy frefafaa § & fre angfy =1 3w
w7
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(a) Chokla/dwen

(b) anuramﬂﬁﬂ'ﬂl

(c) Nandi/=d

(d) Tulsi Vrindavan/qerd! a4

Ans. (d) : TN G F FAF o9 # w=fem Al wEn
F1 UH GRORE &9 41 S @ wW agd aRa a8
o gl zm -l 5000 2 T Wit @ 8
T TE & YRR e I i a o 2
T g w4 are wfaEy & gEd wEe Fiad 3 ife 8
fafea fran s @) 9 gfEw s & fow & i
F98 o & I T T o Rl e o s @
A F B & e o 2

N T F T G TR & foe A el @
IqE T &

FM Fg ¥ dofrs i W s @ sees Qi
@ @R & TR T3 T &) e, Faw, @, Rt
e, AW 2w, g, g g ek & AR
WY@ 7 @ @G o o) o & Rl @ of g
@5 s e am 8, - A, ik, Twe, @,
a, fewor anfz)

5. Ethological theory of attachment was proposed

by

arafw @ s faam-fagia genfae fRear
ar 9a1;

(a) Bowlby/aTe=t

(b) Erik Crikson/tRa wREa

(c) Jean Piageﬂiﬂq e

(d) Pavlov/TEdia

Ans. (a) : 3R 1 3R fagm fagia o @il @@
e 7 o afeh & sEn, Al A @mE @ o &
# @t TR F qEE § ®9 § i G g
=g frzf & S At 3 579 ) A 3= @ s
= H T F wh F dits w9 R aw R @
I Al @ THERIN 9 A el & a@g-ary
fear, e, sanft q s 9@ S 9@

6. Arrange the following terms in the increasing

order of complexity as per the Bloom'’s
Taxonomy of Objectives

Prefafes o =1 Rydl & E@-aiiem
forsm & arqem wfewmr & aga wma ¥ wafi
w1

A. Creating/T==T &{AT

B. Applying/@m] w{AT

C. Understanding/Aa@=T

D. Evaluating"{&aiea &1

E. Analysing}ﬂ'ﬁﬂ‘l’w A

Choose the correct answer from the options
given below

(a) A,C,D,E, B (by B,D,E,A,C

{c) C,B,E,D A (d) D,LC,B,C, A
Ans. (c) : SA-TTFAN &5 IFTAR ST & Fo0 w9 =qd
# affft (Bloom's Ia.mnamy}&lfﬂ% = dEt &
TRyl & T d gEfua 21w w97 32v9 Rmn &
srumomad, shwansd ot Rl & fvcan sh geales
&R T SFW TENE UeweAe efm g afin
srem & fmfor F fsan sman &
£ AT &A=
|- WA
2- | F
3- favequ @
4- T T
5~ 191 &
7. PCPNDT Act was enacted to prevent

ot o bt ©w & & sfufram w e & g

arfufafia fam mar an:

(a) Child Labour/«el 51

(b) Domestic Vialcncc/ﬁﬁ_ fEm

(c) Dowry/aas

(d) Sex Selective Abortions/feiT-agmTmr= Mig@
Ans. (d) : ft @t @t wm @ A sfufmy Rn-agas
mium it da & o sfafafm G
™ mium stk wwe [l fem @@l ((PCPNDT)
sifvfam, 1994 W@ # =0 v & iR fnd e
W o & fau Wi & ¥02 zm afta @ §da s
2 wm sfifrm A wog of fin Pt @ sfele @m
feram mar 21

8. From the styles given helow which of the
following styles are part of Late Georgian Style

Hrer & w Maat F @ @ &
Werat oz aiftos =réa’ = wm €2
A. Adam/UsH

B. William and Marry/fRferaw afrr &
C. Happle White/§ueT @3z

D. Chippendale/fadzs

E. Shearton/¥ft3r@=

Choose the correct answer from the options
given below:

e fe T farseai ° | Wt IWE g4
(2) A, B,C, Donly/&3d@ A, B,C, D
(b) A.B,D,Eonly/#ad A, B, D, E
(¢) A,C, D, E only/@a@ A,C, D, E
(d) B, C, D, E only/&9d B, C, D, E
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Ans.(c}:ﬁﬁﬁf@ﬁm'ﬂzmﬁﬂﬁ’ﬂm
g1 Y  folige ‘S Siias =ua’ @ 9 2
A-TEH
B- #7a =
c- faiga
D- thards
Wi T & aem Rt @ F agEe @ owEm
T & forg iofae @ A e w21 1837 # S
7 & R e = & wdm fn s @ e |
wfstardt e s svwEa wia fg o 39 g3 e
¥ Fd gfe 2dh

9. The time and temperature used for the

pasteurisation of milk is:
Tu =
wg 3t AT ¢

(a) 72°C/15 min/72" AN fir
(b) 72°C/15 sec/72" B/15 W2
(¢) 72°C/30 sec/72" H.30 W&

(d) 72°C/30 min/72" #./30 o=z
Ans. (b) : 3¥ & e & R o B s am
g4 3fft AT & 72°C/1S sec 7@ fafy F gu @ amm
15 second 7 72°C AWM 7% TH fgn o @ 3t °w
T € @ 40°C AW W I I o s ) e
W fafa @1 waifvs 3wam dm 21 3% ffo sfw &
ngiERe F4 & o seart & &)

fausr & fog seme frar o aren

=
i 1V
in

11. encountered

The crucial weakness
laboratory experiment is

warTyen ¥ waT s & 9wa § wwEr @y g

oo o= §:

(a) Accuracy/@&@&a1  (b) Control/fdam

{c) Manipulation/IR9ATEA (d) Time/F9a
Ans. (b) : FAITIET ¥ WO &Y & WHG WHAT
é Frortaes waar frdso
TEHER 3 WM & W A fER &% W g @ ¢
‘S ST R A & e § v § 8 T4
W @ R A F € @ 56 NER Sl Wl
F w@m Fa s 2
wfEm- 7 wfas sEaEl § wameen @ srafa
wam & g= F @ @, “wdmemen § wam d oftifie
FA gU F W waa @ fE gg U Raft @ R @
SR 39 qad uRfafE & s e 8, S
7@ S0 F 9w & o o 9 g =l @1 ffa
T ¢ 3R T T Fw @ ofv R O Refy § =
w1 i F e - @ ok 9 W e an
sl F Afew @ w9 3w ¢ 3k 3Ed @
Y Trata Teaad a0 & N9E) &1 AEha waemen W
FEA Wi SEUH & 3299- (1) 0 & MR W
FHFRT T= @ (2) IU-HETHT @ G (3)
firgia it ® (4) 3= w7 & fdgwAg o @ (5)
st

12, Compared to younger adults, middle aged
10.  Ydentify the names of essential fatty acids: adults who lose their jobs:
ATEAFTS TAT- T K AW F GG B T TaE @ e ¥, WA 3Ty & uaes A
A. Linoleic/foriferes At Hrft @ 3 E:
B. Butyric/Zfefie (a) Are less likely to become depressed , which
C. Linolenic/fFRa s makes it easier for them to obtain
D. Myristic/mréfifzs employment/@Tal @4 & WA T @ g,
E. ArachidonicRTReEs Pred 375 Rre TR ST &1 STER & S 21
Choose the correct answer from the options (b) Find it difficult to get new jobs, but once
given below: employed have a stable work history/
Hret feu o Rt # & Wt IO O Ateftai wra & &fa anm 2, A u an
(a) A, Cand D only/&a@ A, C 3t D fraifm @13 & 2 39 20 oS o @
(b) A, CandE only/&ad A, C 3R E s @ 1
(c) B,Dand E nnlyﬁ‘lﬁ?-l B,D3RE (c) Tend to find jobs quickly because of their
(d) C,Dand E Dn[yfaﬁ?l C, D3tk E skills but find it difficult to stay
: employed /3794 Ftve & Fror iwman Ash
Ans. (b) : 3TEYIT FH-2TF F A- =3 > P A FEQN
1- feriferes- Reifes e & miad afzesil w @ e e @ sifig@ T g, A
o 2 v T A0 | T T FA T
Rrae RERE . AT (d) Tend to stay unemployed longer and have
2- N ST U SNE - fewer opportunities for gratifying work as
W 3 g1 they age/3T% TT9 7% R & F 1T wea
3- Tufsifrs- RS WiE  Polyunsaturated & s 8 € ik 5% T IW 9% & 99 9
Omega-6 &1 THE 20:4 3T 20:4 21 wfoers T e 3 s an )
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- 2
.

Ans. (d) : T30 T @t gE d, 799 HW1g 91 & a0
EE L crile Kol {
T IF T 7% IR T F for wew & afqe
@ &1 3k 9% uW 3§ T & Ta-99 wgfreas m
T & fou s @ €

Choose the correct answer from the options
given below

e fyw e freedt # A wft I

(a) A,B,E,C,D

(b) A,C,B,D,E

(c) A,C,D,B,E

13. Maich the food additives given in List I with
their functions in List 11 (d) A,C,E,B,D
=ht | % fou gu e WAt @ gt 1 F U (Ans. (d) : 7€ @@ 3ER GEw & ol @ ae
g E R gafew s A. i
List 177 |1 List [1/g=H 11 B. A
Food ndditives Functions C. Uahea fawmg
@ d@ardt =l 1 T fEm
A. Yeast/@HR I. Emulsifier E. SEurdER
T 15. Per minute calorie consumption for moderate
B. Soy lecithin II. Antioxidant activities is
wran St wftr siferitenrea: num Rl % fg ohr fre & @
C. Butylated I11. Bleaching agent IO 3
:gg;;y;,%#;: Prteres (8) 1.4-2.0 calories/1 4-2.0 &
Zregm (b) 1.5-2.5 calories/I.5-2.5 =il
D. Benzoyl peroxide | IV. Preservative (€) 2.0-3.5 calories/2.0-3.5 it
ufters (d) 3.0-4.5 calories/3.04.5 Fwdt
E. Calcium sorhate V. Leavening Ans. (c) : Tegn Thafafegi % fau dfd e &0 W
oo Hre fasver I &1 2.0-4.5 &ef
C_hﬂﬂsll: [“"? correct answer from the options| 16 VWhen was the POSIIAN abhiyaan launched?
ELYER AEioW: dt ot TH U= U uF (POSIHAN) 3fimam =
e fag wy famedt o @ wdt 3w 9 e gam?
(@) A-II,B-Il,C-1,D-1V,E-V _
(b) A-V,B-1,C-11,D-1V,E -l (a) April 30,2018/30 aﬂa. 2018
(c) A-V,B-1,C-1I,D-1V,E-II (b) January 26, 2018726 s, 2018
(dA-V,B-1,C-Il,D-IILE-IV (c) March 8, 2018/8 7, 2018
Ans, (d) : (d) May 1,2018/1 =¥, 2018
g Harsdt wrd
P A Ans. (¢) : f 31 T @ T @ (POSHAN) 3@ 8
B-ﬁl'ﬂi s f wd, 2018 F waffa gam g fmE (P.M) T ufeen
C' o 2 nﬁ‘{rr'ﬂ fram 8 wd, 2018 & TowwE # umu IREE &
D'iaﬁ!za%iﬁﬂaamz Pri yEema @ 4 omn sfiae s@n @ aelftiaa
£ 4fwr T ; Fan fave ¢ s meT 2022 7% aRa @ FuEe |
I-1- i\rrange the stapes of new food product - T W B T e & 4
development: ac_‘ﬁ- e 3kt miEH wwei @ dem & Eﬁfﬂﬂ
= e Fearg Rrera & Wi @ et st |[FE W T & @ FEE @ 2vg 2022 7% T4 9
A. ldea generation/fRremimnes wEwen (g & Igun § I F) F 384 Sovw A
B. Product development/3eare farera TR 25 S e 2
C. Screening/OTTaT= dre S i R AATg W R A A 5

D. Commercialization/SraardiaTor
E. Concept development /faea=n frara

v @ oMt wgEn sk gE ¥ feed F R e
EAA F |
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Project size is decided by

19.

Match List | with List 1]

17.
R & amen fRed g T fean s =it 1= it 1R gt =i
¥ List I/geft 1 | List 117Gt 11
(a) Financial institutions/féfra Tean Theories of Mass Characteristic
(b) Government/aTHR Communication/ features of theories/
(c) Project engineer/AfarsTn i e & fvgta Rrsgtelt it Prfore
(d) Project formulation teamyaftgrET oo 25 w
Ans. (d) : YRGS T SR @A R aF 29 T4 A ?:‘h""j“"i‘“ I :‘]::di';r::’;:t :}
forar w21 B wwen & Prem o Bd g & eory .
31 s w0 & fw dam 3 T v gl A e et Rt g
ifgar wora &
g ame fem a9 Bt amen @1 s & gz @ PN
st o ST 7 F 70 AR @ §) S T B g
o, 0 F o & awen, Reeh @ awEm on wt &
JH-U8 TG @ T wwE uh_'a #1, g G-I B. Liberatarian 1. Media are
9 Hed 9 fEw @ 9w § S Toe @ I A Theory responsible
am §, 3 m- F = A e, e 9 v, waer v
T I TeA, A TG F HA A # aren SrRd fogtw TeETdt §1
N T A C. Social I11. Media are free
S gUR WA A Toen a2 A WA w34 Responsibility wre e
TUE F A aF NS ING W UEEE & A & Theory =T
W F@ §1 IwF P ) wh el s s T
1 foan @ €1 59w T F dgn gl REr g Feefee frgia
T SER @ ot 2 D. Development | IV. Media are
18. The sequential steps of constructing Thurstone media controlled/ A HE
Equal Appearing Interval attitude scale are — Theurym wifzzn Pt
‘o goae ardtafin gewae’ afight wmsh st Rt &
& P & agmﬂmwt— V. Media are agents
A. Collection and Editing of items of government
awpelt o Huy ofit Wurew www difga
B. Calculating Scale and Q values &R L]
wot af ==y W=t @y o afiraat &
C. Finalization of items Choose the correct answer from the options
Tt wt st ww & given helow: ’
D. Sorting items on different continuum = ﬁ'[{ my foremeal o B 'Flﬁ EaL qhq:
farfirar e Wt areg very (8) A=11,B-1I,C-1V,D-V
E. Administration/Siemaa () A-1II,B-1I,C-IV,D-V
Choose the correct answer [rom the options (c) A-IV,B-1I,C-II,D-1
given helow (d) A-V,B-1II,C-1I,D-1
2 g Ty fraedl #f # vt I TH: Ans. (d) : T1-1 91 T-11 -
(a) A,C,D,E (b) A,D,B,C A, T R . T HfEar TER &
(c) (?,A, D, B (d) D, B: C,E e - él
Ao 1) 7 Yo S VS A |t ot 2, A i
A- g a1 d s s C. FIf S 3. e e sawrd &
B- fafir ame W awg 9 Rz .
C-woht ik 7wl ) o D. foara it fireia 4. s e v &
D- st @t 3w w9 & o  wgraa F<d 21
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)
following is pre required?
it & Prierar g-g frafafan # | freah

smrayawa g | § Bt §?
(a) Deciding about the data analysis procedure
7 R i 3 R & foia

(b) Developing a research design
TH TN aﬂsﬁm faafta o

(c) Formulating a research hypothesis
e F FEAT

(d) Formulating a research question
TF Y v W e S

Ans. (d) : T F Brimem & o T v @1 e
T, TG T O e @1 e mmem & o g
F1 39 shmm wawr & @ A ¢ fawd S sme @
T @ HEem aw gnd e fEew gfz @ s
IEEEA-faveE &0 A awn @ Rag F1 3gEe
e S &1 snggR @ AW diax R & a9 § an
A g Ry § @ s s R d go e @
SfaT STEuH FEer @1 i sl = e @ |
§ g s o g @ A i e @t 2

21.  Match the colour problems given in List 1 with

their description given in List 11,

weft-1 7 fau o o =t wwenet St gE-n o

feu w393 faawwr & wre gafem wifia:
List 1/ | List 11/ 11
Culuu#roh]ems Description/Taetur
[ =t e
A. Frosting I. Weak areas in a
wafratm fabric resulting from
chemical damage
raTatTs qn%
gftvmrEer @wmoe o
A

Iorizontal off shade
band across fabric
AT wae ° difea
i ot

Same colour appears
different under
different light sources

WS

st =ft tr oswm
feg 2 &

. Change of colour due
to localized abrasive
wear
UETE o IO 1T
uftad=

V. Unintentional shade
variation within a
piece of fabric

F UE IEs & o
et fosar

B. Tendering Il

C. Barre'/amn 1.

D. Metamerism | IV

maaaadn

In ordér to pursue the research, which of the

Choose the correct answer from the options
given below:
e fag g fareedt & & wlt 3w g
(8) A-1,B-V,C-II,D-1II
(b) A-I,B-I,C-1,D-V
(c) A-IV,B-I,C-11,D-1II
(d) A-1V,B-1,C-11I,D-1I
Ans. (c) : BT Tq {1 & wEEmEd @ g 0 F Ry
I faeo % @ gEem-
AT TR ), WEE ATE T & S O

& fiada
B. gieH- 2, TrTafa &t & oftomy @y
C. @R-

w3 H A &
D, Aeg=EEm-

3, 59w F9e 9§ &t ¥ o
4. iy ST % 3t a8 O
e fear & #

The advantages of using probability sampling

wuraaT yitreyt @t yahT & @ uw T 8

A. Perfect control on extraneous variables

g =i W wds frdw

B. Convenient when sample is very small
gftrures W wheyf aga orer

C. Absense of sampling biasness
wftravi= gatoe @t aruftate

D. Lesser degree of judgement

forota =t =g oot

Faster and cost effective

Hraar o ofter guredt

Choose the correct answer [rom the options
given helow:

e faw Ty freedt # & wft 3w 9
(a) A, C and D only/&ad A, C 3K D
(b) A, D and E only/&ast A, D 3ft E
(c) B, D and E only/@a B, D 3 E
(d) C, D and E only/dad C, D 3t E
Ans. (a) : §9ET YR & ¥4 & U @9 ¢l
A. T 90 T TS
B. yfieyiA qEfe &1 safafd
C. fofa @ =@ afori
23.

22.

E.

Licence to operate Community Radio stations
is granted by-
it e 2yt @t denfew w & fag
AT wE= = A g-
(a) Department of Telecommunications
T HaOR v zm
(b) Ministry of information and Broadcasting
Cepiend cieRe o g
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(c) Prasar Bharti Curpumtiomqﬂ?ﬁﬁ'ﬂﬂm
(d) State Governments/Tsd T&RI 21T
Ans. (b) : TrEfe fEd 2y 08 wgEdl 27 ofafan
st warfem @ § o T ot oft T @ d g,
foren forg 3 a1 sam ad €)1 wgEfaE dEd @ Fee
% f 7 ¥ siit 77 =fn Frdw, @ sk wyErd &
sl fafaw weifaal @t &5, sl @ A 3 S
F T T ¢ 3R FHAR T § w9 P f v
guz1 AR TaR me F weant a5 {1
g & o R § wd a4 dh, ARE wa, i,
tewardl dEl ai At & g A W s
i T R s stvdl & w7 i &
T & 0§ W G ¢ 5§ Nan wEas et
RyAl & dafm &3 & fg syl & g sk
YR e zra B e
24.

Any two immisicible liquid when mixed
together form an :

T w2 sftrsfta 3@ T W fafie e
Al AT R

(a) Acrusulﬂl'ﬂ'a'{:ﬂ?r (b} Emulsion/F9cHA
(c) GelSi® (d) Sol/dre

Ans. (b) : S® % @ fevig 29 o @ il

o & @ ueE T )

UTH (Emulsion) 3 A1 04 aifus sifenf @ gz

| T & fasw #) oA F I § e 2, geEA

stk ard, gy sk #m, 92 v @ s WS o,

droy st wrg @A 6 FW WA @@ e veEd IR

adl= A aw o @ 4 @ 90 I A @ o B (T

At # fE ) |

ofifer e # E § 9mR W uEe St Aefafen

 aftrdl & aoffga fsm =1 = 21

1. o ¥ a6 (/W) V&R & Irad- 580 TE51 & gai
¥ e offirs wravan & w9 & &4 @ s o
gftéqur areqw & Wi & W 21 9 YA & OEE
& Famr gu ik Al Fm 1 3w & 29 Tw =
oftferar @ 21

2. AT ° TS (W/0) VST & UTa®- T FHR & TgHi
# w@ qRifire wae & e & & @ E aw
oftsrqr ameaw & aify F1d T 21 59 TER & 99w
@ [O7 IAEW WE T do 81 TawA iR @ee
#im off 7 = & T g

wWy 8 % oom 1 R 2 ZE & wteE o W

Fft FTm #1 o S @ W U 9= F 89 R @

GTaE BT & Al od 31w & T UEE dd § de 56N

T AR B R TEE R W # vFh )R

fonft 7 21

25,

T, »
| B

The process of assessing the progress of a
project based on pre-determined indicators of
the programme is called-

wdmn & yd Puifta ddmst o smafia
TRETe=T W W w YEaie W & WW
g1 T §-

(a) Feed Forward/stanfia gfe

(b) Feedback/sfigfe

(c) Moniluring/ﬂfﬁﬂw

(d) Planning/grst1
hns.{c):m%‘{aﬁmﬂmmm
oREer & W @O S & G @ ST
Fal S 21 o F A FrEe @ g P @
T ¢ it s F 2 @ T w@E {8
A Frierer st sfa-wm & zo a9d gt et &1
TE A &1 Ve F oW e & 9% I gun
o T 2
wWa v d wng o el wd s s & amen

@t w ud i o @ sreer Fgen 2
26.  Which of the following can be used for outdoor
publicity?
o @ Fr3 W A yun & fayg g
feran = we §-

A. Flash Cards/&91 =72
B. Bill Boards/fa7maT ug
C. Kiosks/ et

D. Bannerm

E. Flip Charts/foreg =md

Choose the correct answer from the options
given below:

=fer fon u fareeat # F | IEC T

(a) A,BandCunlyfaﬁf'T A,Baﬂtc

(b) A, Cand E only/#ad A, C 3R E

(c) B, Cand D only/da@ B, C 3t D

(d) C, D and E only/&ad C, D 3ilt E
Ans. (c) : @81 WoR & fod waim & w1 g 21
A. fe oz
B. T
D. ¥e¥i
fasras wz-az wow, wE Iww vz G w adetE
e o svaan femrg ot €)1
TA-TE § 0 Iy &) wow o uiw gm @ T
o E § i 2Ee W e ST 21 9 WeR &
7T Tm= wam o s 2
weEvi-d71 IR W 5 SEeE @ sE W o9
A T 5 g IvEm @ § 3 g St @
ST SR & 2
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What are Séquulruuls?

27. (a) A iscorrect but R is not correct
ittt w2 §7? AT # W R T T 2
(a) Added for color/3= 1 & oo ST s 2 (b) A is not correct but R is correct
(b) Form a complex ion with metals like copper, A T T R 9%+ R w2
iron ctc./3 =1, T I ﬂﬁﬁ ER I (c) Both A and R are correct and R is the correct
afes amaa @ fmio & &) explanation of A/A 3 R 2T wt § 3l R,
(¢) They are added to keep the food stable AT w8 = 2
3¢ WieH &1 ket w@ & fau sign s 2 (d) Both A and R are correct but R is NOT the
(d) They keep the food oxidizedd W=H @ correct cxplanation of A/A 3R R 341 ¢ §
afediga @R 8 9 R, A @1 T8 S T g
Ans. (b) : TRCRITE 3 A, o W wge & || |Ans. (c) : ST (A) GG snewsm & i 3 gen |
S WEA & R a ) T §U AT & &1 9 v sifvm g @ FiE
e T sEEE U @ i 8, S e ge| | [T S WO 5 e & g o e
) e it R F e Fww 41 o i Ol | (&0 F d § ol sm sam gl dww e dm
ug el Rm ww R A, @ 3R REE & ||| afiae d (A) st (R) 36 @@ E s (R), (A @
For oty @ Fefo s 2, S dew 8 Fw F|||od = g
S @ U Tl @1 A G S & GREH &d 81 (30,  Match vitamins given in List | with their
28.  Light fastness ratings are in the range of: functions in List 1I:
YeRTT-gga & gr-Prator = e ¢ T 15 Ry o R =t gt 10 F Ry g
(@) 1.5 (b) 1-6 I Tral o wra ghlerm ateg;
(e) 1-7 (d) 1-8 List IAgeh | List [17g=h 11
Ans. (d) : @M 3 SHO-gEE H AW O1-8 7 ) Vitardos S ———
AfF T T dm 15 2 et
Rt =g & 9 AN = srwon & A @ 79 ™ @ A. VitaminB1Z | 1. Protection of PUFA
ot @ @ wEW S on W% X S g ?ﬁaﬂqﬂzﬂﬁ ety from oxidative
T @1 S 2| # 12 damage/3Tadiares
29.  Given below are two statements, one is labelled gfradfigos ua
as Assertion A and the other is labelled as wraron
e B. Vitamin A Il. Role in carbohydrate
#= 2t mow Ry & = F s (A) : g X :
aﬂ'{'@}a&aﬁ; (R)E‘EI‘TI'ET’B'I ﬁ!‘lﬂﬁl A metabolism/ ﬁ
Assertion A: The color of ripe watermelon is wftra
higher in strength as compared to color of
strawberry ice cream. C. Vitamin E 111. Role in formation of
sftrarea (A) : RhAf amgaea & & qen faafim E normal RBC/ wmT=d
¥ udh gu wrgs & {0 @ vivn arftres gl & FITE TTR ST &I T
Reason R: The colors at normal value as in ﬁm
watermelon are always in their pure form and D. Thiamin IV. Integrity of epithelial
thus are full intensity colors. aradia tissues/ITSHAT
e (R) : ¥ e W AR R e & 1 @
wym Ao s &Y W gt € it 38 yEn Eﬁ Choase the correct answer from the options
Herar aret TR £ given helow:
In light of the above statements, choose the ﬁfﬁ'{"“{ﬁﬁﬁﬁ“ﬁ Wq&ft{:
most appropriate answer from the options (a) A-Il,B-I,C-lI1,D-IV
given helow (b) A-lll,B-1,C-Il,D-IV
ITYT Tl & Awrs # Preifee Rrewed A (c) A-lll,B-IV,C-I,Dl
| Wit I g (d) A-lIl,B-IV,C-Il,D-I
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Ans. (¢) : T 1 & Ru v Rrfen @1 & 1 R mo

Ans, (d) : T UF T SFAA &1 @ W=a wid A

A S % w9 gier T S # g FEi & )
Pzt wrd g foet vard @ ag o @ S 39 e 9 s
AffE@ iz 1 o T @ Fw e | [T 8 s o G e oA R @ i &
ot W T g1 T WO % whw a3 ae W
B. faifi 1 2. I Fadl &) srdE st @@ @ ge1 fom 9@ @ o W @l ST
CRefimd 3. st o @ ) g o g |9 S A o 2
Heem 33. From the list given below which are the
indicators of static work
31.  Which of the following are examples of Ha & .,rg '&iﬂ * s =1d & daas B
condensation polymer? )
frefafga § @ 3 W @ORT wgee & :
£ A. Increased muscle blood flow
ki i wreatyTEl 1 Haftia T yarg
A. Acrylic/Rfinfores B. Sustained muscle contraction
B. Modacrylic/migtitfers ntedfirat ¥ arfafeos dge
C. p“i."ﬂurm C. Increased muscle oxygen consumption
D. Nylon/ATaei= wrauyTal # stede & Iedn | wygfg
Choose the correct answer from the options D. Oxygen independent energy production
given below: AT g Sl Ieae
ﬂﬁﬁ“’lmﬁ ﬁmﬁmﬁﬁﬂt E. Glycogen and blood supar is used to
(a) A, B only /&ad A, B produce energy i ™ T
(b) A, D only /=4 A, D =1 yEm FAT I & fAu farar A g
(¢c) B, Conly /&= B, C Choose the correct answer from the options
given below:
(d) C, Donly /@44 C, D it P g Praed 3 et e g

Ans. (d) : T TgaT & IV AEE 3R ey
#) offereet & F92 § 399 i o Sigen qAmika s
g @, @i = gEw fenfi Rem it Redm @
fergreamd. @eft 1

FA TEaE o A1 3§ AT el & q9ed Sk 8

(a) A,BandCunlyfaﬁﬁlA,BSﬂ'{C
(b) A, B and D only/3aa A, B 3t D
(c) B,Cand E onlyl'aﬁﬁ B,C 3R E
(d) B, D and E only/&ad B, D 3% E

sopst Si- H20, NH3, HCI, ROH 31f% & frssmm &
T TgE, HOAA AgEd G 8| 5N TER Vs Ve
¥ amran: @ afvermia W @ 7§ e & fo,
AAAA-66, & THEGH & HOAH @ 7 TA I F

x\ns.(h):mﬁﬁrﬁﬁﬂm-
A. TrEURTET & Haffa @ yER

B. miaufirat § sifafeon dgea

C. sifeftsm 7 Tl Ierad

Prepraa | &7 2- temfyfamentda it ufefs 3|34, What is the focus of younger preschoolers and
HafE 2 9 tEew 21 older preschoolers respectively when they
T m F7 o ) e 3 ghT tw indulge in play?
Wﬁﬂmém&hﬂaﬂmfﬁm % yi-froreefia fmfifat s g -
s e ' Tarenerdta faenidat & v @1 S wwen: @
: Bier ¢ v @ A ° forw @ &2

32. What type of adaptation it is where humans (8) Communicative play; nonverbal play

exhibit the capacity of being moulded? i _ & !

% e T ITR § W # (b) Pam!]j:;ay* Snlilar:i?:y

7 >

mﬁaﬁaﬁwyﬁhﬁt. il s T T

(8) Acclamatization AIRIVAS (c) Shared activities; trust and shared interest

(b) Behavioural adaptation /&TER ATFHH T & Attt faare stk A S

(¢) Genetic /3TFIRS (d) Trust and shared interest; Shared activitics

(d) Plasticity /T e faaa 3t T =, T & v Rl
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Ans. () : 7 Q-Rowdn moE o g @

Ans. (c) : T& 1 A WWW%WﬁWIIﬁh

fromd e & o= @1 3% Fae wmn o) | [T I REo @ giem-
nfafafiad, faem st @ wfa & w2via &0 &) 99 3 geRt 1 geh 11
aw § e @ 7 A. 3TEY FER . H - AR R
35. Match the hip types given in List | with their we sk g @ ol & W
description given in List 11 e g g
List 17t 1 List 117l 11 Dl R 2. FW R 9AE T g R
Figure Types Description/faraTo it @Y F=i 7% e )
IR T gET C.¥@ & ¥gfd 3. T | 39HSF T 3 3R
A. ldeal Type I. Curves diagonally mew ¢ st 0 F s S ain
aeyt T outwards  from e @ = R
waist to hip/@RuT D.ﬁaﬁmﬁl 4. W W % % fawvfa: e
T o @ I A &)
Rrewfer: wmgr = 36.  Which of the following is not an advantage of
e g ¢ plasma technology?
B. Square shaped 1. Curves outward feafafEadas= Sazs et =1 W
i &t ARt abruptly from = §?
“I'I“i“ l“"d_m“'::’ (a) Assists bio-scouring
REPY  RMWEree Sa-afimrsta # wemm a2
W _a:aﬁ_[ (b) Gives liquid repellency/za foafor Zm 2
hod JF (c) Increases abrasion resistance
§ sl s & sfer sroedor s agw 81
W A e B“ (d) Increases dycing spccdm-ﬂﬁm ﬁl
e &1 Ans. (a) : S99 fmEqE f wEEw @ 4 StEEe
C. Ileart Shaped 1L Curves outward ||dmfes = amg o8 i
Leuh L 2 gradually  from || e & aifrm freeh & st weet vt & fagen
over i rﬂ?r & ' W@ER, Sfiqm, anda wﬁ_él T% qrREEl
bone/@WT & tiY- || UM @M ) W W a9 @ aee
et amgr @ s || 31 g @ g ) ses Pt a2
wEm & ot T 9% 9 ShEew 3 41, vuudu SRR s g1 o
e ® % w T 21 STE Z= w1 3 W O |l T R 98 5 W S
et v FifvE § diog @ @1 Eh @ 9 W WER g1 TEen
: J @it 7= awr gEu T
D, D'a:::nd Staped | IV Curves ‘outward 37. A special education teacher is participating ina
il HfY nh::uptl_v from three-yvear reevaluation of a high school
waist and falls student with an intellectual disability. As part
st.ralghl to of an assessmenl, the teacher accompanies the
hips/&HT # student to a store and asks the student to locate
IS T and purchase an item. This is an example of
ol 2 afm i which of the following types of assessments?
T e fre &1 = favm fren e e T=a froem &

Choose the correct answer from the options
given below:

et fog g et F & vt I P
(@ A-1,B-1V,C-1I,D-1l
() A-NI,B-11,C-1,D-IV
(€) A-Il,B-IV,C-I1,D-1I
(@ A-IV,B-1,C-Il,D-TI

whfiges Prgrenen aret faemef & W @ @@
& gdeaieT ¥ W S W §) e & U
W & w9 H, s o o uw wuen-Ty
= I § of o @Y U T S fafy w5 oo
7 ¥R mw w3 & fow mEar 4 uE
Profafes #f # faw yaw & geatea &1 &

FeTETo §7?
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i X

(a) Authentic/3rymitE

(b) Ecological/mRftafis

(e) Interview/SMEER

(d) Portfolio/Tmem
Ans. (a) : T% favr fimn fims @ 5= foog &
iz v T ol & g 77 9w § [
Fam @ @ ) =T F @ 9 F = 9 A on
G 9er g § A 9 2 3K oW @ uE aw @
et meomiskman Fuama d B @&
YR & SR i & SR 8

38.

Vitamin D3 is also known as:

farfiry € 3 =t 3w 9 A ot S e §:

(a) Cholecalciferol/@IetaHeatRie

(b) Ergocalciferal/Tiidfeamt

(c) RetinolAfEAta

(d) Tocopherol/ZH=iFid
Ans. (a) : 2R D3 F1 FAHcaETd & A0 7 9 S0
s 21 faefE D3 & & @ e ¥ g SfE @
GAn 7wt § = iR FEER de g2, e & am
sfiedfan st st wEn i,
AR g1, e F @A A 2 Sftar @ 2
fzf D3 @ 0 @ W aA F fR s o @ A
werd, fazifom D &t &0 & Q@ fE s wEa ) e
fosw faifm D &1 Jeew @ &) W T 9@, 2@, gh R
fawor & ft fr=ifim D3I % ot @@ 31 92 S S el
21 S vk ) &feray ) vaA o wez e ¢ 98 &
fazfia D3 93 Tt i W g &) B ged € @ e
v i & gz Freieta | ffm D3 3 am g
39.

By mistake you have over blued your clothes,
which of the following reagents you would use
to rectify the fault?

AT e Hu ur e ¥ wver fter e

fean ¢, ot sma Prafafiaa o & few sifirmls

T IUENT T T W guna & feg wr?

(a) Sodium chloride/A1fEgY FARETE

(b) Acetic acid/TfFF 3=

(c) Borax/§gmm

(d) Oxalic acid/3iifes e
Ans. (b) : Gfvee 3
T 3T FTE T e § S A o a2 A sy
S 300 & FGM FH ST T F G GH
afz s wie fafr & A @ 5 @ S o e @
fa@ o1 g ™ & O g IWT FHUET I w8
A 4 wER @ @ 21 s ufE, offmE, oielE
F, e AW ohe T TEAA e 49 W deT
W FA F MU g9 99 F 99w Tw FT@ F o
i 1 sTETaET = 2

A Mifth-grade student with aulism spectrum
disorder (ASD) attends a general education
class full time with support from a special
education teacher. Which of the following
would be the most effective way for the
Individualized Education Program (IEP) team
to integrate social skills training into the
general academie curriculum for this student?

ety avlEn fawm (w e ¥ |7 TE
uterdi wam @ Rrenedl v favra fran Rrars
W GETEA ¥ UE YuiETiers |y fivan wam

# frgar wan {1 dafvwe R wdew (amd §

dh) = ¥ wmias @ve ghteer = e

Yufts teww # @ ww & fau

frafafas # @ wad ywdt 7fe 30 o &

g = T grm?

(a) Assign the student a one-on-one aide to
model appropriate behavior./STd% 6N Fl
sfwid & & fo famdf 3 & & fog
T g &K

(b) Lstablish clear expectations for appropriate
classroom behavior./3fm Fan-=gaer & fag
=7 3 a1

(c) Include peer-to-peer supports in the gencral
education class as part of the student's

IEP/fardf & (o€ € 9 & 9 & w9 F
ara fmn & § @ wead & gt wwadl @
wErgal S |fwfem &1
(d) Incorporate individual counseling services
into the student'sfamdl = (3 § &y
=ftem gt #ad wfisfam w30
Ans. (¢) : FwfaEE auiwy fFE (T @ @) § 1
gied] 1 & faordl vw fave fmn fmrs ) wea @
w [iEfaE qa e Fe 3 Raae @ 31 dahEs
fren Frtwm (3 § M) =9 ¥/ Il Shee s
F wy et TETEn § wEd 9 & R Ryandf
FEMH I o s ey A o o ool § @
TeRHl | FE TE @ Werdm Fi winfE 17
41.

40.

According to Lawrence Kohlberg's theory, the
development of moral reasoning takes place in
six stages. Arrange these stages in sequence:

wfte wead & fogw & e, A
Aifthaer @ faea Bg =il o g1 &1 3 =
T smitre wE

A. Universal Ethical principles

B. Authority and maintaining social order

wftrar 3t avnfie e @ w=m @

C. Interpersonal Accord and Conformity

ureafes wwglte afit argewar
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D. Social Contract/RTHIT S rgdL
E. S!If-interestfmﬂ'ﬁ

F. Obedience and Punishment

ATt afit €z

Choose the correct answer from the options
given below
et faw o Rremeat # / wft I 9
(a) A,B,C,D,E,F (b) B,D,A F,EC
(c) C,B,D,E T A (d) F,E,C,B,D, A
Ans. (d) : A T (1927-1987) & s R
g o 31 f S & wgee W s 21 o
T

3
mﬂmmﬁmgﬁmmﬁﬂ T
-
o

T } e oRqel et A A R & frein
e &1 fogi o w71 ) fst 9 me @t 3
A fE & T g @ g T & W d@w A
% F e TR 5 TR & N & & TR W
fofdi wwge

Frea & IR o A o=l @ s ait @
T T WAEE & FTER I8 e wiephes ' A
cmmﬂ i Fear 3 39% s A @ 39
T 3 zwﬁﬂﬁﬁqﬂusmﬂaﬁaﬂﬂ

B. From 2 to 8 weeks
following  fertilization,
when the major organs
and basic anatomy
begin developing/

FHUAZ D A A
TEAE dH, TE Y@
st st P i
@ T fasfia B
wma £

C. The first and shortest
stage, where the zygote
hegins to divide and
grow in  complexity
during the first 2 weeks
following  conception/
e sht wad ot =,
g g miuwe &
L L
amfiy % wfew ww @
ferfam afw Rrsfoa g
I T §)

Choose the correct answer from the options

given helow:

it fau o freat | | wft 3w g

(a) A-LB-lLC-N

(b) A-1,B-1,C-1lI

(c) A-TI,B-1I,C-1

(d) A-1,B-1,C-11

11. Germinal
s

I11. Fetal
=i

o: Tl § g Ans. (d) : g1 3R -1 o o= & @ Rew
A. T s g 1 ooy stk 3 sifems @ 81
B. 3TAfea qi-1 qeft-11
C. grefts woh o rgwTm w0 & o R = R atftrmen
D. 3R 3k g SEw F FAC W@ A. TE 0 B TR 9 59 06 W @ | feee
E. Qi aray R Tl wgm el @ fasdem
F. Feeags mEn weg g wftafem 21
42, Match List I with List 11 B. Frww & W‘ﬁ*ﬁmm . A | YU
el 1 el 1| gefem st @ 3T 3 gﬁa.-ﬂwﬂt e
List /gt 1 List L1/t 11 Praftm 1w €
description of prenatal labels/ c. mm ﬁaﬁm'aaﬂ #
devtlnpment!‘-ﬂﬁlﬁw‘ sifras a'l'q'ﬂi;"_::l g @ sty
P — Sfew w7 @ Rabm st Rahm @
- TRV T 2
A. This stage lasts from 8

l. Embryonic

weeks until birth and 43.  Arrange the steps of Programme planning in a
tivilcen the sequential order
differentiation of major FhEN VA F SO H EECIEE] sofr &
organs/dg WU 3T waftaa &t
TR BT T W g A. Identify the Problem/Swen % wg=r
afrt 3o yoE it @ B. Analyse Situation/aftRefy =1 Rrgergor
Pt wftnfera &1 C. Collection of facts/azi =1 Tymgur
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D. Deﬁiup a plan of work
wd @i U AT et we
E. Decide on the objectives/3tyai ux favfa &

Choose the correct answer from the options

given below

= fau o Rt # & ot T
(a) A,B,C,D,E (b) B,C,D,E,A
(c) C,B,AE,D (d) D,B,C,AE

Ans, (¢) : FdHT Fee @@ wea ¢ s T0 @
HEH & FHea @t i @ sit IR Fralan fem sm
2 FdF @ de § uF g F 9e9d, aifed
ool & 99A 3URE HHYAl & qegiEd, Haadn|
3t FrdEm & i Wiew 7% @ I 8

Frdwn PreA Rud y=-am § @dEw 4 adue @,
FEW A 3R IRYT q@ wrEnEt F eyE =Y
fre o o F witafew @ Fdwe FrEeE o e 2
forl nfa ael Y AR A, Few s vt &
U & 3urat W faew fawe B am ], sedfme e
w7 FB @ franefa a6 §) SR s e, w@m
q wg vt e Fa 3k § gF B s we
it Ao Jt = @ P See 8

WA ATA & S0 T w-

A. 72 & e

B. ofiftafa =1 faverom

Ans, (n) : 1 @ @ 3 ow-awda & = A A 2
A. T wwmEn s w Ram @ §)

B. &1 oq9eR uftar @ @ i a5 8

C. EF1 &t Frd=ifa-adrsm @ SEvgEm 81

45,

When the food is directly given in the veins, it
is called ?

wa sire o Tat | faar @ g, @ T we

e &2

(a) Enteral nutrition/NavTs 501

(b) Nasogastric nutrition/ATHT-F2T orgor

(c) Parenteral nutrition/S-fomn =t gigoy

(d) Saline nutrition/E G
:\ns.(c}:mﬁtﬁqiﬁﬁqﬁﬁﬁmmg. Fﬁ'!ﬁm—
foar =i draor F@ ST 2
e o SEdT dreer § O Sfw @ oE et 3eme) @
sin: Rma A R 8, owidl 9w, S gR0 O
wad! WA & yIEd 21 o WEves s Al @)l
& T fgoma o 81 9% TETw Fon 21 A
¥z 3t st 1 o ofd 9w (@Gidd) F die
sim fan s @, fomd wh dvil &1 siE: R
A wenfi fea s 81 ok oo s o (o)

g =
GEME: G
uE 3k
q

e § 92 =R e ¢ AR wie ame s |
g a A A4 F wm T8 @ @ wafa w9 @ T

C. 996 F1 Tga9H tgw <oy orm FEEs w2
D. 3?@ R favfg 46 Which data collection tool is appropriate for
E. &4 & us g Riafie &t the study of job satisfaction of KVK
44, :Z:En-lmnn elements between BCC and Advocacy Pé"':g’i_;_",“" ? Aret ot Ef 3 waf w
ot ¥t i s war-wwed 3 ot A e §- e & fAy @ A1 g Hig U S0
A. Baoth rely on persuasion techniques t?
2= yearaa wiaf o frgra w0 (2) Aptitude Tesy3tfirerme whem
B. Both seek to bring in behaviour change (b) Interest inventories/37Tefar 3=
1 =g aftad=T @ @ A e (c) Interview/SET=RRT
C. Both need stretegic planning (d) Questionnaire/NATE
2t it wrdifa-deen @ smavawat §1 |[ans, () ; & @ § EEiEE @ ARG F OAqE W
D. Both use only intrapersonal communication ||3nygy & fg gvAEel = dmE ITEAOT I9gW 2
3t T affafire dan @ M S €1 | |svmaeh s @ s @ w8, R w9
E. Both can work only with people at the||® q2= qu=md u=mfaw & Sl | YeEe I S W
grassroots FaA FOTEA TS 3T & e | 8 g W S & Y 3
AT H TR §I TG A WA U@ AW & | 59 3EY9 AW 6Eed ° g
Choose the correct answer from the options | |[@ 97 FI =W T 2
given below: 47. What is the correct sequence of statistical
et fg v Rt ® F wl Iw T analysis of data?
(@) A, Band C only/ad A, B 3t C gl & wiftaeta faveww = wft sgEw
(b) A, C and E only/d@@ A, C 3l E T E?
(c) B, Cand E only/@aa B, C 3T E A. Gathering/@Irgur
(d) C,Dand E unlym C,D3RE B. Analysing/Rrveaqur
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C. Organiz'i.ﬁgt’m
D. Interpreting/samEar

Choose the correct answer from the options

given below

et fag o fammeat o F wft 3T g
(a) A,B,D,C (b) A,C,B,D
(c) B,A,C,D (d) C,A,B,D

Ans. (b) : 3T witegEg fafd &1 swdm favem,
w3k fredt @t Peem & i wfes wmm
it wrel & St @ siEst & Ivdm o €, o dwegd
i P @1 s TR SRR wa W owEW R fE
oftaznad @\ fm g S §) gifers e 6
T8 wran & Pl arfwsi @ wmew, wevh, witEmn stk
INF I F FFAA T HAEA R TR g v A
FE @ AT F dHe wueA, wepwo, e am
ad i & st ffimt wgm & It @1 ST e @
A FwW & ¥UA 9% TeeRied @ e
wifead &1 W E W I @ I w9 29 IH, W™
1893 # Feam (Fadm) ¥ g 4l

et & wifesa Ry &1 78 -

1. Hugwl

2. N

3. faveram

4. =

48.

Egocentric thoughts can involve:

argehae fram o wftofem & v €

A. The lack of awareness that others see
things from a different physical perspective
e @ @t R gEt U e it
whtiea § <T@ §

The inability to present their own
perspectives to others/gal & fom sma
& & TRPET wEa S @ sraadar
Failure to realize that others may hold

thoughts, leelings, and points of view that
differ from theirs/3TI¥8 F FT FWEHEAT

fis arm =fis ot =98 aem faamd,
WAt 3 g = @ Tea f

Being intentionally selfish and
inconsiderate/STggaRt wmdf afv st
L1

Choose the correct answer from the options
given helow:

=t fag wy fareedt ® & wlt I 9
(a) Aand[!only/aﬁ?lr\a»ﬂ?[i
(b) A and C only/&8d A 3 C
(c) B and C only/#ad B 3t C
(d) B and D only/#a9 B 3/ D

Ans. (b) : 3Tz faard § afinfea @ @@ g1

A. FITEED @1 &R T @ @ e s oftes @
il 2@ ¢

C. ¥va I # smgam % 3= =fs ff 378 aram
ferard, st stk gfe=ion 91 w@ W €

IEY, IETR WA EwEW & I3 g & § @1 99

sEEn d 3 W o ot F & @ 21 PR wiw o I

31 @ W M T w9 W

3T fagm 8 w50 € TR 3T 59 | T fee aHE

Ram @ go o @1 foaw &) o 5 § 3 4

FEFR F WG T FA A1 AR, HT Fod W WG

T A AT @ | m o @ s f

49.

The communication process is always-

vt wiiwar gitem gt §-

A. Systematic/gerattaa

B. Transactional/dexagits
C. Universal/amdviiirs

D. Functional/yeraiers

E. Interactional/3iafrarms

Choose the correct answer from the options

given helow:

o faw 7o freedt § @ Tt I

(a) A, B and C only/&aa A, B 3 C

(b) A, Cand D only/&ad A, C 3Rk D

(c) A,CandEun]yaﬁf A,C3ﬂ'{E

(d) B, C and D only/#d B, C 3T D
Ans. (b) : ¥R ag e 2, PR @ @1 Ifvs =afs
iy # el o WEw W o wm dm e & e
feram, o, e, TR W AEE-NEE F 8
oW & wnan /@ uE A g &t aw o o sftm
FG 1 wfEw =R 2
TOR TF FER @ vz @ St ander Sl & i
T F AT 30T TG ZW A A # w9 &
R P & foe dvom & &) wWEn @1 @ oaEe
foren & @ fimr A W= & =gaew, G & @0 ©F IUEE
§ uitada a1 2)
= W IuanT vy aret fafius yonfeat-ver &9
N The & el W PR & @ waE A 93 @ R -
W s 3o &1 w S @ yone Ivdm § ol s
N 2, W I Al S T o 0F AeeagEE
Tga % Rig Sefen Fn 21 98 3T WK § SA o
F N = oEe & ey § e e &1 R
Fr=fefa wia &
1. =fmTa yunelt- @i st $t d9r & fan @
T ¥ Iy@m § W o §EW 21 (a) AW 9
firma (b) AT 1 RrEa
2. wrgfes yonelt- 7@ @ A 3 | HE @ A qh
FE & JOTEl 21
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3. WS WIUWOT JOIeR- 6 KO & w99 SR
# FF T § TEA @A A S GEW 8 ThE g
wafuz, ed, s sl = wam few s ) s
Yot B 92 T S | 2

4. v & vgfrat-gan § i ¢ a0 gedg SR
¥ s aftadw =l 1 A @ fmn € sEEw A
trﬁaif;a:ﬁ @t fimm 0 7 vefdl & dw9R R F@
S 21

et witwar wym g &)

A, gemafaq

B. A

C. SHRies

50. Given below are two statements, one is labelled

as Assertion A and the other is labelled as
Reason R

= 2 o faw 7w §: uE = afawaT (A)
3l @t =t 7 (R) T mar f

Assertion A: Statistics is the servant (not
master) of logic rather than an end of research.

sfirmeam (A) : wifemt, oy F aifen wlitofy
& TaTa weh & g (et =) §

Reason R: Careful collection and logical
analysis of data contributes more to the search
of truth than statistics.

7 (R) : 29 & AEUgEs g it wifds
fargeraur wiftemat Y gern § weed W @
arftres arTer= 2a 1

In light of the above statements, choose the
correct answer from the options given below:

TrdR wat ¥ et § Pt fawed
ﬂvﬁmzﬁ
(a) A is correct but R is not comect
A W & To R 78 A )
(b) A is not correct but R is correct
A ufl 7 3 weg R E@ )

(c) Both A and R are correct and R is the correct

explanation of A/A st R 3 w@ § ok R,
A 3 wét =nem 2

(d) Both A and R are correct but R is NOT the
correct explanation of A/A 3t R I @@ §
3t R, A 9 WE = A9

5L

Match List I with List 11

el 1= g 1 gafem @it
List I/geft 1 | List [/ 11
A. EL Nino/T® =t | L. An interaction
where one
organism

beneficially affects
second organism/

=
w§t T i Ry
dra = el
L - 1
war &

B. Green house

elfectifr  wE@

I, A practice
process that tends

to 'long term

change' in land to
non-forest uses/

U ya/wiewar
uftt & fe-aw
wanT ¥
‘Ardamfers
aftad=" @y 3R
srge gt &

C. Desertification

TEEIATERTOT

I11. The progressive
warming of the
earth's atmospheric

temperature due
to insulating effect
of CO2 and other
similar gases/

AfFarge o 3t
@ a3t hat
& guaTll yuT
& TN gt &
ArgH e AT
=ty ATyt

D. Deforestation

frd=fraroo

IV. A periodic rise in
temperature of the
Eastern

Ans. (b) : Hifiega, g & 3ifm "Rl & a9 76 @ Pacific/gdT woria
T (@ @ R)1 wifers m @ 9 e ¢ R & AT &
AFgl W dAmgw, wevl, TffEw ok I T @ amafis gz
e &6 # w21 wifeEn wwe & ql & oA E. Commensalism | V.Degrading a once
Pifym st @i =amen sy S § TeraE et 81 FEE agaifE fertile land/avit
eam | viuw qraeA o S & a@l & R Tt ot i =t
i & @I 7 99 § 99 & S g e wer
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Choose the correct answer from the options
given below:

= fau o Pt ¥ Wl T g

(a) A-,B-I,C-1I,D-V,E-IV

(b) A-11I,B-1,C-1V,D-1,E-V

() A-IILB-[,C-V,E-1],D-1V

() A-IV,B-NIILC-V,D-I1LE-I

Ans. (d) =
il il
A. T F A. T wuia % am | smafis
3z
B. 7 5W Thae B, FA-21 sitEs o T W
i s il & guaal o &
T
C. wegela C. 3 3R @ o ;N Pl
CacH
D. frffamm D. @& waysfEa st yfy & e
T 3 SR R 6
i g g 31
E. wEgifmm UE FR SE O o g
wia & ARG w9 9wt
T g
52. Give the correct sequence of cotton spinning
system.
THUTH THaATE WUITE! T TE 20 )
A. Drawing/3m&a
B. Carding/d=
C. Blending/aftmsroy
D. Roving/3mmires
E. Spinning/&as
F. Picking/@WTETuT

Choose the correct answer from the options
iven below
Eﬁiﬁqwf&w&&iﬂ’ﬂuﬂmgﬁ:
(a) A,B,D,E,C,F (b) C,A,B,D,
(c) C,A,D,B,FE (d) C,F, B, A,
Ans. (d) : a2 (Spinning) TH IATT F AREGEH T
T AT TAA &) FOW AR WFH 9 A A FhW
i it tat g7 9 A R @ Tl @ S 4
TEd W & g § S a1 fe st st
@arg Ao YA | @ S 2
¢ WO 8 WER § WuE & o 8- 1. it s
2. TEEl Fard, At FE d - 3 @ §ER AN 2
v fafy- wwom fafa oo wad o @ wEw | R
T &) ¥ TN F g @ 2 R w2
o @ oum f |izs @ SRR S A FEa ¢, I
ey e R ol @ s e 3w sidnfiga @9

F,E
E

mm{mﬁmmw%mﬁm’

e wR T s § ¥ T dh R A s

X 19 @ o o [ )

HUTH FaT5 AUl @ Wel -

1. wftmyo 2, qTE

3. H 4. M@

5. 3T 6. T

53. One of the reading readiness skills is the
development of comprehension that includes:
m—m—ﬂm%ﬂmmmmt
ot wftnfere §:
A. Ability to arrange a picture story with

events in the correct sequence/SET3tt %
g ww fogmm @t wft w9 § wattaa
T B AT

B. Ability to tell some personal experience/&6®

TRRTA JTWE TATY T AT

Ability to write his or her name/3194T ATH

fora= =it s

Ability to answer questions about a story
which has been read and tell it in simple

words/ W& vregi | wdt 3fir gt wt um
HAT U IMUTRA WyAT & IO 34 St o

Choose the correct answer from the options

given below:

(a) A, B and D Only/%ae A, B 3T D

(b) A, B, C and D only/&a& A, B, C 3R D

(c) B, Cand A Only/&ad B, C 3t A

(d) B, C and D Only/&a B, C 3t D
Ans. (a) : fofEs w31 g3 AN frw @1 39 S
Fa W A0 S gD @O, SEER-w Fo9en
WX w & wf d o @ o Fo fm @ 21 wE
st =m0, fofign 9w & oA @ sfieafs § g
TUF T3 FE T ¢ et w R am @ 5 ve
ik frard #1  gEd 0% TEe e €1 3 sty o
o9 fftan w1 & =9 F @B a9 39 vAE @ fAEn
H TG W TH BEA & 95 FEd 8
ST WY o fEa-aiae & g4y fraes T 6
fommm & @ 21 @i oo Svel & B §F fao
g T A 3 sTEvEEa @ @1 eEl F wea &
fore svaw few o 3k 3= U@ wfReg 3= FUa 910
W T WY F arga o oW o awt A s s
a €, Tt 3% fmme Fafa o @ osEe
T 9% 1 PR anamm Sua S fred 3 93A @
3w @ e @ S 9T & s @ & W
fereeralt a1 A 3Ty R =1 W 2
ST SIS T Wged-1- Tl & MUK T 937 Sl &
TEe I Gag A GEW 2
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1- 934, femy wiftq & wems @

2. B FIVE TANGH & ' 81 e ff T st

R R

TS WA & IyA- V=, H441 9 I qeEm &)

A FaE forad ares § vl @ IR E 'Y § a%

|

UEA TR # O g 1 e @ Rl aftefew 21

A. GZAH & WT G G & 6@ @9 9 ogaran s
3

B. T aftera 3Fya o & &

C. wa v=t # vt stk g 7t ww I W amafin
YAl & IW 24 F EE

One of the reasons for using drugs hy the
Adolescents is

frvirt grr aftau &1 Iwdm & w1 TS S
t:
(a) Escape from everyday lifedfw sfem @
T
) Parental Pressure/S-fiem &1 2=
(¢) Pleasurable feelings/3THEardd WIaAG,
(d) Thrill of doing something illegal/§e g
0 @ e
Ans. (c) : FFOR Zrm a9y &1 3TN F T OF SO0
ARG A 2l
frorl zrm sftme @1 s@wE &3 8 9% i 7 I
g qFWA UEA 71 3 IF wwE Al AW qm o
e a7 TFOH a9 ¢
freimdl zr il Z=el & @ TS e 2 S TR
B F FET Tg WA €| IEhiEd (TE) & ge9an
F0 aet R §, 4 s § § 1 e e
& gEqEm F9 § Hafaw @1 wgw g R § wmm
30 SfvE AN YOE F gEAm | HaiE 2
55.

54.

The expected standards of a consumer
education material are:

Fuvirent fnan amft & iy s £
A, Accuracymﬁm

B. Completeness/qufar

C. Commercial/@orfas

D. Objectivity/aegfgar

E. Diurimin:iur}'ﬂ'&l’ﬂﬁ"!ﬁ

Choose the correct answer from the oplions
given below:

e fau o Rreedt § | vt 39T 4

(a) A, B, D only/&=d A, B, D

(b) A, C, Donly/@ad A,C,D

(c) A, D, E only/@ad A, D, E

(d) B, D, E only/#@® B, D, E

Ans. (a) : 37T e wnoll & s T o

F UAE @ § IEvEs g
ofed | o8 "
& amavEs 2

¥ o gfieer @
I 1 F9 wERf fofg S faae 4 3R 3w Fm
iz 2, Fa @ie 2, R w2, 53wl
iz Ipdren foren & 3299 T T A SvER & S
TEF FT 8| Wi a8 B F drend | a9 3w
T 4% a5 GiE w795

IUWRT & - TTA T IER, gE @ SR,
s @1 IR (90 &), whff @1 afver, Ffad
WEAYTEHA & AR, e A & AUER, ITH
foren @ fiaw

Sre-frg Inim REw 15 wd 3w ST &) S4i
7 A W 1962 # It & 4 e Twd 18 9t fE
oA &, AT F, TN U 999 #1 AR 3

2. e & 3o fEm 25 R & own sm R
it w0 BT 1996 F wwm & vefw 3 I deo
FAfafrm 1 =i an

ITUIRT & ITREIG-3TGT @ Aee 2- TS W
afan agA 3. IqUE & GG TEdm 4. gEN & 9w
HET TY ITH ITANT FEA 5. ITH A€ wE qiReed
# T 6. fuwmdl & fau sEm =@ 7. ImdE
FEHH ST F TR

WA W ITHTTRT T YA # 3U9RE e &) 3
it o &z W 2

1- e il o 2- TeeiE =Eed 3- T e
56.

International Literacy day is celebrated on -
wraren feaa wETa e -

(a) 8th March/8 A1

(b) 8th May/8 w¥

(c) 8th November/8 &=t

(d) 8th September/8 firdat

Ans. (d) : IFUEE e fFEw 8 faEa & v S

81 fow wwr faw & foro 9 e & fm g S

Raad & e o RRea Remw @ =9 50 &)

ILD 2021 & v fefiew o & TR § @ f i

InTET G5 K % Ry PR @ = 2 S dee I

i 7=, gasil ok a9 fen 08wy &

s we Ry fe § fen F o & 2wl ek

e @ HETE @A & ILYT | 17 AR 1965 T T®

favig o ma fr wes o B Ry 1 faw aw faew

" T A st ad 2009-2010 # OWqE TP WERE

29T wife 3 T
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57. For making a dress for yourself in a plain-

woven fabric, which of the following fabrics
will you use?

T FR-EY g W § s fae uw s
T & forg, ano Prefafea # & e W e
I w7

A. Percale/aiaet

B. Flannel/&@me=

C. Burlapm (€TT)
D. Chino/=t=Y
E. Moleskin/fiaftaT

Choose the correct answer from the options
given below:

e fag o farereat & F wft IIO:
(a) A, B, C only/&a@ A, B, C
(b) A, B, D only/&9d A, B, D
(c¢) B, C, Donly/#aw B,C, D
(d) C, D, E only/#aw C, D, E
Ans. (a) : T FR-37 qC W F W Rw = o=
%ﬁamm.m,mmﬁmm
1
e~ UF T F A I TR §IN F9E 2
- g T FA Wi & H9m 4 F A aw G
oftesen % R UdeR T S 2
T (212)- HEAR W g & M g diea e @
= W T OF T I FE
LA gwré | T (Fabric Made of Plain Weave)-
od g ® 9 79 wER U RS & § e @
oA g 81 T @’ T A #9 Teg i w w =m
Mt se ATl A i R i awf oz @
o e @ osma A @ 21 U} 9§ e A
AT @ &1 3 e & 2 of i oam &) T
T T 3w a P W T om
() T TE A T T I i aw-aEa, S,
A, TATe mvd), dar
(i) &= & & fffa s@-vow, dfeaw, oo, 29
77 fa & a8 =)
(iii) ¥ @ e aw- &9, e, fve TR
(iv) W | i a&-3m0i, a9, o9, e, < ok
(v) dvala i 8- v, o=, 3w, #g s
58.

Which of the following is a knit fabric that uses
fine worsted yarns?

Preffias # & = T 59 T % yEm A

AT R0 HUET &2
(a) Inlay/@iEd (b) Intarsia/z=m¥rar
(¢) Shaker/¥THT (d) Zephyr/aIHT

Ans. (d) : I TR A GH F 7@ A 0§30 I 2
JArz-afE o8 Fu W A ) T Iw s 2

The major functions of KVKs in Extension are-
& ot & & yyw & §-

Organizing vocational training for rural

yout

wiyTater = AraTE

B. Organizing training for farmers/fRRETAT &

fere wftreror = swate

Providing loans to farmers/fHam=T &Y |/uT

TACTET AT

Providing labour for farming activities

ot & Tt ¥ fw s wEm s

Conducting resenrch for new farming

lechnulugluﬂf & foo

IFEU @ Hare

Choose the correct answer from the options
given helow:

=rer faw T famet o ® At Iw O

(a) A, Band D only/&@d A, B3R D

(b) A, B and E only/&3a A, B 3t E

(c) A, Band C only/Fa@ A, B 3k C

(d) B, C and D only/&5a B, C 3t D
Ans. (b) : T&=4 § & & F, F 5@ T4
A, T Eed & fore s SRmm @ smRieE
B. fermmt & forg sfimm &1 smaem
C. 7% Gt Wdisdl % fo SR & dueH
TR 3 ¥ F v andio et F gR faam $
(FdTH) B & wE9H &5 3 3@ T v W F Fa
725 & Tt fEw o 9= €
(KVK) wim & o 5 famm & &1 5@ d € “3f
fergr 1™ st R o v Y Rt & @
T2 F Fx WG FH SFHOE oitez o e & e
mﬁwﬁmmﬁmaﬁﬁﬁ 3 g sEuE @)
R, WHE AT A T w T @ g af
KVK @ wra § 11 % stdife} sepwdm
A (ATARN H § o= & st &7 9 sm &
ugen KVK 1974 # gifewdi # waftm fdm mn an @@ &
ot T=al & I s B g § s den IR
T W 2 IR gh dfigwg § & i @ amm
g 8, fred OR Rl @ sew s e g &
AP i & i e o R i 21

60,

59.

A.

Give the correct sequence of converting the
waist dart of the hodies into two french darts.

T F W PES oD wifwd gme ®

uftafda & &1 ot &w 2

A. Trace the front hodice/ATH= @Y gﬂ?ﬁ -0}
AT H

B. Locate the position and draw the lines for
the number of French darts required

=1 A wg AR amavaw wifad yws
it dem & fau e o=
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@ e
Close the waist dart/@W WIHS T ¥2 &

3

Shorten the darts and connect the end of
the dart lines to the aptxmﬂﬂ-ﬁ @ o
=t ol yrass Yan & sia = vivd | SE)

Draw the line for the French darvwifersft
W 3 forw YT @)

Distribute the dart control equally/dTd&
fordsror @t waT v | frafe @

Choose the correct answer from the options
given helow

Frer faw o et @ | Wl I A

(b) A, F,B,E,C,D,G

(¢) B,A,D,E,F,G,C

(d) C,A,D,B,F,G,EC
Ans. (b) : T N FW TFE K A Fwd wwE d
wRaffs & @1 78 &7 81

1. Fa F F F TG H

G.

Cut on the French dart lines/wiftrelt yras

Ans, (c) : §3fe Fit il 70 o= w@ e 21
A. SramER fagi

B. Siesmifew=e fgm

C. afag i 1 fai

D. yonferdt &1 T = firgia

A. BoErEreta firgia- Tam 2 & fEm it @ 9=
# I 2 W i F sER, T wS R, R
719 3it o & w Frdaw afte @< 2
B. Wi Ewa fagia- 3¢ fagim 39 fem &t Tam
t & gotve el Rendl & dy9es goa &
frre & greagel yfiw P 21 o fimndl sA @9 @
T TR T 81 3R 7 ue ¥ 9 7 9w o)
T dig 3w
C. snftag @ @ fagiv- @ T S
AR T e it =@ w9 ° Refta e §) A
TE By A afra anit § obiga g g
D. woTerat i TR = frgia—-
yonferdi & wEdIm @ Rl T @ RfE ol
yonferal atem-2 Sl W oftead i 31 3T & R
Proar & 2w dfte 47 sl REtn aw ) i
i1 & i s dfEd o 4, 9 R Wi A

2. ittt e & fore T W &8
3. Reaft 7 W Y S STva WA 6T A W | 63 " Match List 1 with List 11
& fo Y @ _ Teh 1= gEt 1@ g sh:
4. FTHH & BT F R TEEH @ IHq W O b Lisllfq‘?-ﬁ[ Lisl")’ﬁ_vﬂn
Eﬁ.l_ . Varinbles/=¥ Characteristics/fargraamd
5. ST ST E W | _
. : A. Experimental | 1. Cannot be altered by
6. F & W =2 T 'g'ra’rﬁ‘ra; researcher,
7. waa fdan @ am w=v & fEfa X g T wEem W
61. The major principles that govern growth are: e §
m =t Prfia wet are e fargia £ B. Organismic | [I. Uncontrolled but have
A. Cephalocaudal Principle e significant effect on
TEersrste fagta dependent  variable/
arlgrdfsm A anfyrma
B. Proximodistal Principle
P Rigi = tr; Wt g
LEGLE
C. Principle of Hierarchical Integration '
ﬂﬂﬂ‘ﬂ% T v frgi . C. Assigned ML Manipnlalfdmm
D. Principle of the independence of systems
wunferat @t =T @ gt D. Dependent | v  ANeasurable, can't be
Choose the correct answer from the options m'"il’“t'“em-
given below: uftenfera =t feear w0
et fay Ty faeedi F @ wft I g wE
(a) A and B only/3=e A 3 B V. Is the presumed cause
(b) A, B and C only/Fas A, B3R C of dependent variable
(c) A, B, Cand D only/¥ad A, B,C 3R D swidm R ™
(d) C and D only/&=@ C 3 D STRITT S B9
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Choose the correct answer from the options

given below:

=2 fan Ty freeat F ® Wt I A

(a) A-11,B-1,C-1V,D-1II

(b A-ULB-1,C-1V,D-V

() A-1V,B.V,C-UL,D-I

(d) A-V,B-11,C-1LD-IV
nns.(b}:mﬁm#mqﬂﬁmh
ghi o
A. STEIfTE EEEIEG
B. s Tt Zw T @ o1 w2
C. Iwafia fdg aRaifem ¢ fEm s w8
D. 37w @ T T JAEA FRT 2

63. Reactive dyes form the following bonds with

the fiber:
e W & wa Frafafee du

Hﬂﬁ‘f:

{a) Covalent/FEedias

(b) I[ydrogcnl'o'TSQT-l

(c) Tonic/3Ma

(d) Van-der-waals forces/37-23-aT0d T
Ans. (a) : JGRATE O @ & WA TEEdWE
{Covalent) 59 i 81
mﬁ%mﬁﬁmmﬁlmmmm?

“zrd grEat’ dffe IF e @

q o, e,
W, 34 3 Za fulsm wag and &
fe 3vdm e s @) Weddie 49 @9 S ¢ 99
QN & A seEgEl @ auE e g

The parametric tests are used when -

wraters el @ SwanT @ fear = § -
(a) Data is skewed/ax fomm @

(b) Distribution is normal/fmee AT &1

(c) Observations are independent/3evT &7 &
(d) Variables are qualitative/=t ToTH [}

Ans. (b) : SafaF ghewd &1 3v@m 7@ fFa s @ 59
221 T& fav e & oo & ¢ (ST & fad,
ww A famm uF 5 F men & famo Sl o
R Az aft auE @ §) ) wiew smEk @ st
yiferemen & 2

yrafas whevi & 3wEm a9 @ s 81 94 fame
qmg &l

4 3
443
2

2

Given below are two statements, one is lahelled
as Assertion A and the other is labelled as
Reason R.

#=r & wuw feg & S AfvwaT (A)
afrT gat = 7 (R) =@ T

Assertion A: Communication serves (o
construct as well as reflect family relationships.

wfrmm (A duw Pl & W
uftenfies weii @ whahifa w3 @ W
=T ¢

Reason R: Family memher spend so much time
with each other, they use and understand
communication shortcuts and idiosyncrasies
that may elude an outsider.

@& (R): TR & WeE UH-gE & W g
o €, & dem & g ot o daes-
&fren = Iwah = § 3 A us awdt =t
= dEn | w2 g )

In light of the above statements, choose the
correct answer from the options given below

mﬁ?ﬁmuﬁ# areites o Prifee fraedt o
ﬁuﬁmaﬁ
(a) A is false but R is true
AT 7 & wg R T
(b) A is true but R is false
AT ¢ T R T8 A 7

(c) Both A and R are true and R is the correct
explanation of A/A 3T R 3 wdl & 3 R,
A F T e 2

(d) Both A and R are true but R is NOT the
correct explanation of A/A 3 R 2l wdt §

3t R, A T T8 e 7 21
Ans.[c):ﬁ'ﬂ‘ﬂﬁlﬂfﬂﬂim-mmﬁﬁﬂﬁ
safifm 0 & & S 8 w=ifE
TRar & weE UH-gEl & @M o gqeg faew g, 3@
dan & g o S Fae-Aftren a1 3wdm w5 ¢ ek
I U ARl = F d9R | &2 T 8| efan
(A) 31T (R) ZH1 &8 & 3R (R), (A) & e =
66.

65.

Given helow are two statements, one is labelled
as Assertion A and the other is labelled as
Reason R.

H=t @ waw R v §: vs @ wfuma (A)
afrr gt =t ek (R) @ T R

Assertion A: Strategy for behaviour change
must include providing communication that
might trigger individuals to make decisions.

sfimmas (A): wagR oftad= ¥q w-ATe ®
WU WEIR AT ava Aftafera g g @
wfwdl @ frota % & R Priar Beaite
T T £
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Reason R: Internal and external factors may
serve as cues (o action,

a% (R): safs afn o =ne =dad &
e & = o ww g f

In light of the above statements, choose the
most appropriate answer from the options
given helow.

ITATH T T A 0 Prifee e o
'&Fﬁmﬂ*
(a) A iscorrect but R is not correct
A WEl @ W R T A T
(b) A is not correct but R is correct
A T 7 & v R\
(c) Both A and R are correct and R is the correct
cxplanation of A/A 3R R 3HT w81 § 3t R,
AT w8 = R
(d) Both A and R are correct but R is NOT the
carrect explanation of A/A ¥R R ZH W §
AR R, A 3 B =S T 2
Ans. (c) : EER A &g FEAT B HAR F2H FA
FaYg Witafed B9 SR W SRl @ Feig e &
for, v Rraneia & @ 21 a4iE
SART 3R G T F WA § &7 5 F T g ¢
W (A) 3 (R) 3 7@ @ 3 (R), (A) N 76 =@

21
67.

Given below are two statements, one is Iabelled
as Assertion A and the other is Iabelled as
Reason R.

=t & saw fou mo € @ afimgw (A)
afrc ZEt = @ (R) 5w T §)

Assertion A: Overweight people look heavier in
stiff fabrics.

sfirre (A): stfirs o= @@ @ w2 wuel
o wrft fama £

Reason R: These fabrics stand away from the
body creating an illusion of additional
thickness.

& (R): & =3 vt ¥ W € o st
e @ ey e )

In light of the above statements, choose the
most appropriate answer from the options
given below:

I wat & Aers ¥ Preifee fawedt |
A w/H I T
(a) A is correct but R is not correct

AFf ¢ 9eg R A A &

(b) A is not correct but R is correct

AT 7@ § T R FE

(c) Both A and R are carrect and R is the correct

explanation of AJA 3 R 26 @ € st R,
A I w8 =T )
(d) Both A and R are correct but R is NOT the
carrect explanation of AJA R REE @
3R R, A 3 w1 = T 2
Ans, (¢) : I F77 a1 T FE F9g1 °d O €
FiifH 4 F92 wiR A Q@A ¢ 3 HRE d2 9 W
dar 7@ §1 W (A) st (R) 3 w1 & 3k (R), (A)
i T = g

68. Which one of the following is not a1 component

of the services offered under ICDS?
Prerfrfiaa # R # w9 T
TS S I ATl WAl & U U T 87
(a) Formal Education/3faenfts femm
(b) Immunization/Sferteror
(c) Referral Services/GHE0 ﬁﬂTli
(d) Supplementary Nutrition/3TJq 9
Ans. (a) : 3iqafE fn (ICDS) & 787 ¥=F & 9
gl WAl F UF 92 A &1 wnfan e R g
(ICDS)- Integrated Child Development Scheme
o YYRE 1975 (2 )
o T # 33 @VE 4 T 4 Wy FEAW A 2000 ®
i &3 # Tomd w1 @ 2
NIPCCD &1 38 g5 & faaraga § mgam)
FEva- o [ W 0@ Tiad gar g AW &
Tare § Jum @l
o T o Rrgelt % A A & W @ R W@
@ wifts 79 @ @E F 3EW e
T & -
1. FFmHn
2. TH @ s e
3. & IR
4
5

. U ud e fen

. wf¥Eor

6. frerea g

o FIEEU- T H 6 AWeEl WG § 9 gy
ST e W R T S §)

o THEl Td e & [0 IEiTaii e 3§ 6 v 1w
& T F IS % A 3% Y, fore, T
Tl & g A o s )

& EI-3TE! &1 3 | # 6 9¢ & i wet
# qw [ 3R e s # W @ amn # g
o, e, Raadl, sigha o=, @ anf fan s 2
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Symptoms of thiamin deficiency are:
feranfiry &t =g=er & e £
A. Peripheral neuropathy
uftefra - fargfar
B. Photophobia/yarershifa
C.

69.

Cardiomegaly

& W & 52 I (Srdanrde)
D. Koilonychia/~@ wwa=t T (wramgenfafivam

E. Tachycardia/ga-mat

Choose the correct answer from the options
given below:
=& faw wu Rreedt o & it 3w 9
(a) A, Band D only/#aw A, B3R D
{b) A, C and E only/&=a A, C 3l E
(c) B, Dand E only/&@d B, D 3R E
(d) C, D and E only/&9@ C, D 3T E
Ans. (b) : faafim =t =Em & awo )
A. TR dfE-fagf

B. G& Y1 &1 §59 I (FfEamieh)
C. gl

ffm it | @ awfE i = T Y SR, TR
3t TaTag @6t I @ wEa €)1 vl A R R
2 5 wice, ffm & 12 sk Refm T & s
= ffiet & w6 @ Tl A | TR oftom &
T 2|

glaR A s Fa S0 #m 2

it § gus w9 de, Fwed, gio-dd F = wiw
Gl 3 H H g i &)

FI S A A B TEHA -

aiedsh i arowe § wwen, sioof § sl @
e & TR

feet &t @1 wgaa @ @ gan fEw, dfison, st g
TOqE T, Y@ A W0, w6 Ge @ g 3§ F
i # g

arafir = Tafem wia-

frafim “@ 1" @ dwfE AW aehE TEEEeEE 2
ol @ sfifA fefm 6 1" @ At am
smavas g 3 e fadl @t dgf w5 o Refe
“@ 1" A 5 Pl sEvEs @@ 21 sTEvEEW @

afrs 8 P ot 1" T @ A @ e A
70.

Identify from the list the values of working
environment:

- & edl @ yew-get §@ ugen
i

A. Punctuality/ava-frgar

B. Creativity/TaTcHahat

C. Variety in work/@rd ¥ farftrerar

. [
% ==l L= -
1 | \j
L L. B4 -

D. Economic reward/anfife urftaifus

E. Flexibility/=aar

Choose the correct answer from the options

given below:

et fw o et F | wft e g

(a) A, B, C only/Fa@ A, B, C

(b) A, C,Eonly/&Ta A, C,E

(¢) B, C, D only/&a® B, C, D

(d) B, D, E only/&a= B, D, E
Ans. (h) : Fr-aEEW & gl $ S
A. gHa-frger- 999 | 91 999 @ ged @ mEves
m?@aﬂ%mﬁmﬂeﬂaaﬁﬁmﬁﬁmﬁaﬂ
& ¢
B. & o fafaear- 5l ff &d 7 7@ § ffyym &
i sEvEE 41 fafaem @ e fafw afem
fersraanatt & o 21
C. Frere- T g o 41 forss o i e A
31 oEE & fFa @ 9= @
1.

The general guidelines of work height for the
task where there is frequent use of eyes and
infrequent use of hands are:

Fedw ¢ FAfIge SO W AT @ waa
wmEmt e W R ywm EE &
wmr=a fem-frde §:
(a) 2-8 cms below eye level

gl & w1 F 2-8 ¥ A
(b) 3-10 cms below eye level

@ & w1 F 3-10 ft 2
(c) 5-10 cms below eye level

@l & w1 | 5-10 At A

(d) B-12 cms below eye level

G & W d 8-12 @ A

Ans. (c) : F79F o FMETEH I8 @l oG F T
5 @ ¢ SR g @ R W @ @ % s
feam-fEe-

@l & WA 5-10 . =

7.

The group of commodities listed in the essential
commodities act is

amavas T afufrom & gefteg awped w

wE d:

(a) Coal, cotton textile, Iron, petroleum products
Frqa, T a|, e, wifaas I

(b) Coal, steel, cotton, Steel, plastic

(c) Iron, steel, petraleum, Aluminum

(d) Paper, drugs, brass, steel
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i

Ans. (a) : F9TIH T NG B guEE Gt @
R 81 FAw, w9, a9, e, i 3w
avas aw] AR 1955 & g Fx T FEA &
arean A g 33 Al & awgel W fdao w2
i 3w, 34w, @9 fieer W W i @ 31 aey,
FUE | F urm, Wiferan am WRifeam IR, @ SR
st gz aw, Tr-seE & @9 0@ 5 & 9w s Fe
o a1 £ A Wi &1 @' S W 1955
T8 99g § 1 o1 99 9N G vEdl # 9ga F9 Y
M W A WY W A HOIRYE H agH A
smrarl sl Eemed @ tEn @ ot fw e w
wfi F @A T TEA TR F T |

73.

Arrange the steps of buying process in
sequence:

wa = yiear ¥ o = argmn o wafiua
Wi
A. Evaluate the product
IFATE T Yedieh il
B. Exchange product with money
U & Wy Ieng o At @i
C. Find the product/3wTg 1 TaT @TMdI
D. Recognise the need/A%TA = gEET|

E. Develop interest in the product

TATe ° v fawfra =
Choose the correct answer from the options
given helow:
it fag r Forae 3 & T TR T
(a) A,D,C,B,E (b) B,A,C,D,E
(c) D,C,E,A,B (d) D,E,C,A,B

T § fRm yEw @ wrar @ o fean
[T §: 3w 9wl & weal W A, =
wah §, ot am, aa ot e A A

Which type of speech is used in the example:
When 9-month-old Radha'’s mother talks to

her, she uses short, simple sentences, repetitive
words, and higher pitches,

I ¥ fRw yEW @ wmar @ wam fEar
wt §, @ @y o, we e,

el A Iew " @y w5 §)

A. Iluluphrasliciﬂﬁm

B. Telegraphic/am{
C. Interprelive/@TETHG

D. lnfnnl—directcdlm'ﬂ-ﬁimﬂ

Choose the correct answer from the options

given below:

(a) A and C Only/@ad A 3k C

(b) A and D Only/&@d A 3 D

(c) B and C Only/3=@ B 3k C

(d) B and D Only/&ad B %R D
Ans. (d) : 32 § 77 (Telegraphic) S&R F7 9097 F
wEm o & o @ of & T=dl A W, I %
g, ‘HWaE, sk Fa Fad b
Fergw & Ry B v & wdm fen s @ o= A
wE & oW St o AR 9| S ¢, @ 9 o, wee
;—mﬁ, e w= ok I =mam @ owEm a1
|

Ans. (c) : 79 T 9FFaT 71 St ST

A, ST &I TEaH

B. IS & Ul g

C. 3% | &fu faafim &t

D. IR F TRIFA I

E. ¥4 & 94 34 & fafmg

4 T whwal & Pl Zae @1 @A S Wl @ @
F0 & fag me @ Sana’t o sfiew w0 & fg IwEm
w81 gofy & "t & d e @5 R oA
A g

il 7 T Fffte g w o Pofftn gea siend
T W ITa oW 3 gl Aeel 9 TS Sqad a
T 1 e & I T ol at U A &
Tl @ Fad @ sfioEn FA = w@wE @

.

Which type of speech is used in the example:
Like other 2-year-olds, Arjun can say, "Ma bye,

bye® and * ball broken.” ;

75.  Which of the following apparel production

systems is based on teamwork and shared
respansibility for quantity and quality of
output?
forafofigs & & =9 &1 ftu See yomet
Fu-mrd it FruET & wen o e i
WA ST T e §7
(a)} Customized production system

TEw- 3R I N
(b) Modular production system

Y4 S S
(c) Progressive bundle system

ynfereer drzfer somel
(d) Unit production system/3&r3 3raran SuTTet!

Ans. (b) : SEl IR WO f 4-17 @ W TS W6
el g & 9 3UA WA & A [Aeiia & @ i
UF AR TRYE F 3E 5 & fod e @I &
€1 3 UF & W Aisqa & ©9 0 & & § AW @
TriE 95E UE 4§ s 3TRYE W & & g1 39
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'-.'_‘. ! i ".l-l | L \ V u '8

TR #, STt TE-EEt @ YR F I ¥ T S
7oz @ § 3R dm 3w ik e & R gf @@
¥ fomEr @ & @ Wi F St S den s@m @
SavaFa, IO F R R Fugl F s anA & 'Y
TZEd WA &1 72 Yoreh undiuw uRue feiw & fa
Wl T & el iR Sl # savaEm a8l
76. Shifting of darts from one place to other
changes the:

TS WH @ TE W W OUEE & e
uftaffa & §:

A. Fit of the garment/afiurs = fifz graw

B. Amount of dart control
wras FPrdzm =5t o

C. Shape of the pattern/Tg3 T SR
D. Design of the garment/aRum &1 Afweew

Choose the correct answer from the options
given below:

e fyw o fraeat o & wlt I g
(a) A and B only/aaa A 3 B
(b) A and D only/@ael A 3T D
(c) B and C only/#a@ B 3K C
(d) C and D only/&= C 3it D
Ans. (d) : TF ®IH B 3R ®H W GS N HAO
qRafifa & )
A. T T IHR
B. 9ftam T AfE
77.

Which of the following features can be studied
through 'Mapping' while conducting PLAs?
it TA U @ Hered @ wed HEtame’ &

oo B frefafiaa fafieaei d @ fam =1

sreoge farar =1 wear £7

(a) Conflict Resolutions/d9d faafta

(b) Natural Resources/STHft® Ham=

(c) PriorilyPaucrnsWﬁlﬂﬁ‘lT Iy |

(d) Problem Solving/AHe &M
Ans. (b) : T TH T T TAwW F0 G99 TEEEAV &
Mg Y WEhE GENA &7 S BRE S
f ue w1 ff 3m uyam A ¢ ot Fe §
v Sfieq &) FREn @ O§E §9 A AWEe adr 3
FUE F FEUH T § PRA T 957 TV 2
faferdifear & IFEN- "RRA T & 0% ¥ @
forereer s s, i o v & weEn 8 R S
21 3 FETs qeg &9 8 shrafts famd @ &

78. Which one of the following is NOT the
characteristic of scientific research?

Prefafes © @ ®@ @ dfve srgdue =
fargramn i &7

(a) Objectivity/awgisa

(b) Precision/aRIZm

(c) Speculation/3AH A

(d) Sysl:mlisalium’ﬁaﬂﬁﬂﬁﬂ

Ans. (c) : AR W fam gEUE @ e
T &1

s 7 was Bl F1d @ wwe A# R s A
3 Bt o @ @ & R ot S 2 smavas 2
dof v & amem & i wwenel @ A SO0 aa
o ) E9H $ 20 WEern @ Fwfe e awa |
e & ¢ FE ol 71 e 9 W I T F
R sl @ 9gn HagAviE, Wed anensi &
TN FH 1 Ara S el U@ Hed g e
F afzd afF 3 9t e ao e @ o 9.
T S THH T

i v o ad we favraard-ww Gl TEeEn @
I @ FHAE A ae @0 @ gawe @ 5 R
o ¢ @ 39 fE S & St T FEd & sfem A
i & 3 1 WE FA gl o wles gz @
Fraz Frefm il W@ ST SYEuE S
TZAIST & =™ Fiean Heel % (e T e an
FrRfym & 2 56 1 S v @ o @) 7 TR
= @ Fed 4 dmfE v @ FE R 8 it
¢ dofE v Reh fefa v @ s w@
Tfe fite ™ fwmm @ RS smR W
s fram @ fagin e fFa s 21 A
o aga Wl weand & Fh @m G & ot @
o @ wEd 8, 7@ S e W M § gEwe
e s 21

79.

Which of the following factors favour fashion?

frefeflaa @t § & @i arar @ ey S
t?
A Advertisinglﬁm

B. Transportation and communication

ofiaga aft demw
C. Political Instability/ra=fifoe arftawn
D. Sumptuary laws/@adma-faurs
E. An economy of abundance/aTged srdemaen
Choose the correct answer from the options
given bhelow:
frer fau w frmeat # A wdt 3w -
(a) A, B, C only/&a@ A, B, C
(b) A, B, E only/#dd A, B, E
(c) B, C, D only/&a% B, C, D
(d) C, D, E only/&aw C, D, E
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Ans. (b) : suTemt (v TR @ EwA ¥
1. fEmas

2. uftaes il HER

3. AEEd AdEEn

e ot M & FoW 7@ w0 A 5 o T i @
dgft § dia g A go O &9 & fag g2 @
2w o W TR @ w8, O, dieE,
afta, &, T, F F FgA 3R = A=
dAEa a9 hvH & S3F FEE den |
Tz € 3 S I @ W & e e @
T FAA & A wam G s R

I Fo o Sl & FE o) e T &
fe 573 wR e 2 dfEw dvm St g 23§ o
el it o @1 e @ T 3 neea feem

2
&

@ Ty W el @ T R
e & B wWE @ 3w wweEn @
Ul 81 FAWIH Tg WAl SaEvas ¢ 6 o
FEd §7 S WY T UE Td wee
M fmr md o3 @ s of & e @
YYTS WE &) At a6 2
fav[g vy Tme ) wEEE @ g & wam § T ik
F9 F 99 T AFAA 2

82.  Match List | with List 11
Tt 1= gt 1w gatew St

List-1 and List-11 contain Basic Virtue and

Erikson's Psychosocial stages respectively

w13 = 1 H e g o sl ofteee

& WA S o e

R wft 21 @ 2effem, amfas Feafdn T, - _f

AR T 3 YR = & omew d fvm % A A List I/7sR 1 List LA 11

i 31 3 @ w59 F ol aE | A & A (Basic Virtue)/ (Erikson's Psychosocial

? §vm & vy o Sy gl @ o w0 1982 wa stages)/TRETT &

Hqw T4 Hifia ¥ view wifa B TS =T

:_ﬁma; g 12;;: = agtm Sl m ; A. llope/3TTym I. Autonomy vs. Shame

Prefor, forron, oo, fosa, R, SR S 3 _ i

el & &7 o Tl M e g @ ) B. Wills=m II. Imhn:;:;s. Guilt

80. Quarternary Purple is Bk
T Hrerartea @@ ade §: C. Purpose/ 111, Trust vs. Mistrust
(a) 2R+2B+2Y (b) 3B+3Y+2R = Rrgrer =T T
(c) 3R+3IB+2Y (d) 3Y+3IR+2B D. Competency | IV. Identity vs. Role

Ans. (¢) : I Faciied (FEEH T0E 8) IR+3IBLY wre Confusion/TgaT

gias st ageigs I v awe ageigs O & AW R T vt uw

s wRadse 3, o 3 Brege dhE 8, owifs e E. Fidelity/™ar | V. Industry vs. Inferiority

it T O FR-EE sk aw-fiw & v a2 AT

T sl A (et 3 3R A ﬂ) & W §' o aw Choose the correct answer from the

i 7% ggad ¢ ofed a0 T wgan ) options  given below:

Bl. Identily the pure research prohlem from the ﬁﬂﬁqwf&wm’fiﬂuﬁmgﬁ
following. (a) A-1,B-UL,C-1,D-V,E-IV
Frefafes & @ frgre vivg wwen =t oge: (b) A-1,B-1,C-NL,D-IV,E-V
(a) Entreprencurial activities of rural woman () A-UL,B-1,C-1,D-1V,E-V

Ao afeen 9t frg nffafial (d) A-1lI,B-1,C-1,D-V,E-IV
(b) Estimating time and energy consumption in () : F ; oftFEA
useufsularcuukcr!ﬂhﬁ(ﬁi!ﬁﬂﬂw ;nm;wﬁllﬁmﬁﬂﬁwm
I Tt & I9dm W o —
(c) Role of ICT's in empowering rural women T T uftees & RraTE TR
(d) Vocational interests of adolescent girls B. 31 = T4 e
Bepaital e ket o C. ¥ TR TN WY

Ans. (b) : fslt i 3t v S JEIW @ WY FwEn " T TR e

3 WE EOH 4 §6l 21 Y §9E & WE §Y | wuH E'ﬁm i W9

a1 3T i@ SN NuEA & R a5 & e g | b
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Arrange the steps of organization process in
sequence:

wea wfemr & @it @ sgmw § At
i

Delegating the work/&T™ wa=T

Grouping activities/STg= nfafaftrat
Delegation of authority

witreR 1w

Identifying and classifying the activities
wfafafirat @t wgem wew v wviige =

E. Coordination/AA=0ds%h

Choose the correct answer from the options
given below:

et faw g freeat | |/ w3 g

(a) A,B,C,D,E (b) B,A,D,C.E

(¢) D,B,C, A E (d) D,C, A, B,E
Ans. (c) : T3 SR & T H ITIHA
| nfafafadi =t ggam &=
2. e TfafafeEi
3. WRER #1 SrdEA
4. M e
5. AH=aE
WM~ IS | 2 WS Tge, 1 WS w8 qEA
IR i i e e A s s ol
g qEa WA T FEedm 5| e FRE
T TR | gl @ WY @ IR 7 e § wes o
I € WE T
fafteer v ol & argemt- w89 F wsA F g oA
W W & &9 A ofitwfim W owEe {0 St oo
3 WA 7 AgE 3R ITEIAE! & 9 UG e
i F )
84.

N gy

D.

Given below are two statements, one is labelled
as Assertion A and the other is lahelled as
Reason R.

#iw 2 wmas fau u € uw o s (A)
ol gut =t W (R) =g T &

Assertion A: Calcium requirements during
lactation are higher than during pregnancy.

afirmas (A): TarT &1 araftr § Sy =5
aravaEAT TataTE w arafiy ¥ arftre g &
Reason R: As lactating women lose hone mass

during breast feeding because less estrogen
hormone is produced.

& (R): WA gl = I O i
IO U SO A wigenait o =TS @i
arafir o arfte gemama o g s

In light of the abhove statements, choose the
correct answer [rom the options given below:

IOYVh WAl S e W iR frenedt

] ‘ l B | 1

(a) A is false but R is true
A W 7 # oy R W )
(b) Aistrue but R is false
AT & W R w8 T €

(c) Both A and R are true and R is the correct

explanation of A/A it R 3 7@ E Ik R,
AT s == 3

(d) Both A and R are truc but R is NOT the
correct explanation of A/A #ik R 3 @l &

it R, A 1 W e 76 2
Ans. (¢) : TR 1 @Y § Sfevem @ MEvEEA
noferen 2 sl @ afivw A & S TR it @
IAEA A G4 F F WA FAA aredl wigensi o
A & 3 f e zemE Su @ I &) el
(A) 3t (R) 3 w@ # stk (R), (A) 3 W = R
85.

Arrange the four phases of Adult Development
as given by Cohen in sequence

g g fau v aaws o & =W i @t
ﬂ'ﬂ'ﬁlz Wi

A. Encore/g: : (T=1)

B. Liberation/faqfs

C. Midlife Re-evaluation/sfraamen gadratsa
D. Summing Up/dgraur

Choose the correct answer from the options
given helow:

e fyw g Rrereat # | wft Iew 9
(a) A,B,C,D (b) A,B,D,C

ﬂ'ﬂﬁmgﬁ‘

(c) B,D,A,C (d) C,B,D, A
Ans. (d) : Figa =/ 2T T Fa e & S
A. it me e
B. femfs
C. Heqm
D. T: T: (T=R)
86. Proteins present in milk are:

A. Lactalbumins/@sZergii=

B. Lactoglobulins/Saeeg e

C. Casein/Zdr=

D. Ovalbumin/sTracrgfirT

E. Myosin/mmafi=

Choose the correct answer from the options
given below:

frer R T formeat wlt I I
(a) A, B and C only/&ad A, B 3l C
(b) A, C and E only/&a& A, C3RE
(c) B, Cand D only/&a@ B,C 3R D
(d) C, D and E only/&ad C, D 3K E
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fram, =8 d9@nm

Ans. (a) : 39 T @ SER & WA WE @ ) o 9| || o gwE, R, fuen
sifrgan TH F0A 1 8 8 S 80% Sfem # st @ | (AR frem @ Fwek @, s v A e s
A T F 20% whw § o o 4w @ oo || A vgE 3 Tl @ e w1 e @
T T ¢ 5 S 0 g9 § 9 saR A v | | (3 o @ o @ o e e e @1 W
M 1 T T S A @ o 3 aE aem @) | {3 # v & s aw § o g gEa 2
fere i 21 89.  Match List I with List 11
Tu # Juftea WA R- et 1 = g 1| gt Fif:
A. TR List I/ | List T/ 11
B. W ] [Prujli:cl appraisal (Activity)
C. imensions)
87. Muster rolls are prepared under the m )
programme- A. Economic appraisal | 1. Suitability is
mm;ﬁmtmmmmﬁ fﬂTﬁi‘di‘{Fﬂ'glm'l enm_:;dwﬂ;q
(a) MDM/UR 51 T8 e
(b) MGNREG A/ =t et &
(c) NHM/UA T3 T™ B. Technical appraisal/ | I1. Determines
LTl financial
(d) SGSY/uH st wa arf viability
Ans. (b) : A TR FEFT F T8 19K FC I L z
mmﬁmﬁm%aﬂﬂéﬁmﬁm{mw fuffta s
A & STIER G S #1 30 TR A9 § B S C. Organizational [1L. Scale of project
gmm? wfah == frm I ¢, 3/ T appraisal/ and the process
| adopted
@ T S @ wg i 2-3 S W 70 @ et =
T dan S @) FeE = A S Sl I i st
ol # oft I W A faar s @) w9 F e § s
Toigd & AW @ a1 afd A franh &) S a2 D. Managerinl IV. Adequacy and
88. Major symptoms of diabetes are : appraisal/ :tr’:lr!.::f::::ilzd
S e e e she
. Polyuria/@gaAT - e
B. Glossitis/ g g &
C. Acidosis/3TFA TThRT = . .
. Ty | iy
E. Nocturia/Teig ® qmﬁmm sraftrear &
Choose the correct answer rom the options MU TT wahT
given below: it e
et e g et F # Wl IvOE: F. Financial appraisal | V1. Capability of
{(a) A,Band E on]yﬁ:’cﬁl A B 3R E project is
(b) A, B and D only/&ad A, B 3 D judged
(c) A, Cand D only/&ad A, C 3K D b
(d) A, CandE only/#a@ A, C 3 E En:r:m
Ans. (d) : TR & T[G T F- '.
A. T (Ehnns; Itlu correct answer from the options
given below:
ST ot Ry e Rranedt #F /@ Wl Iw g
G 4 (a) A-I,B-11,C-VI,D-V,E-IV,F-HI
wge & I A i ww ded @ frer § SR aga W (b) A-TIL,B-1,C-V,E-1,D-VLF-IV
@ T AN A S, O, T G W TR A (€) A-1I,B-VI,C-1V,D-1,E-V,F-1
HuaT R it 8 ) (d) A-V,B-1II,C-1,D-1V,E-VI,F-Il
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Ans, (d) :
it 1 it 1
A. (WA Jeafeger | srafiar & HER R
aram) Hafam & 21
B. T qeateTw | G &1 A %
I T
C. WA qeaieTu | 3Uqw @ wd & a6l 8 |
D. FuEY qeEy | waiam R o @
e 3 SR 2
E. ®fthas geaeqn | ofdee @ smm @ =g
foan s 21
F. forfra weafeeam ferdira sraerdm e @
4
ﬁz-mmﬁ&mﬁ?ﬁqﬂiun@?l

90. Match biochemical tests in List 1 with
nutritional deficiency disease in List 11
et 1 ° Sraerafys witenr @ g =
T = gE 1 & gefem S
List 17gzht 1 List H7=ht 11
Biochemical test/ Nutritional deficienc
Hrerromafrs disease/araurar Fr=ar ‘#ﬂ
witgror
A, Serum I. ;;ilz:;: A:ﬁeﬂclency
albumin
i T &t e
B. Maemoglobin | I Goitre/TTeUE
C. Urina%ﬂu 111 Kwashirkar/§iE-
iodine.
{=e (warviET)
D. Serum retinol | IV, Anaemia/3TT¥hal
i Meate
Choose the correct answer from the options
given below:
St fam e B % il e s
(@) A-l,B-IIl,C-IV ,D-I
(b A-llI,B-1,C-II,D-1V
() A-Illl,B-IV,C-ll,D-I
(d) AIV-, B-1,C-1ll,D-ll
Ans. (c) : T 1 T GO W TN -
qeft-1 get-11
ramarafyes oftaror  drgor sl e O
drw e WEA-gA (i)
LERIEE 3T
A e T
i eta foifim @ &t dam

Read the passage carefully and answer the
question:

Tater wt wagds v aft yr w5 Iew €

After ratification of the United Nations'

Convention on the Rights of the Child
(UNCRC) in 1992, India changed its law on
juvenile to ensure that every person below the
age of 18 years of age, who is in need of care
and protection, is entitled to receive it from the
stute, The National Commission for Protection
of Child Rights (NCRC) was set up in March
2007 under the Commission for Protection of
Child Rights Act, 2005. The constitution of
India guarantees all the children certain rights
which include: (i) Right to free and compulsory
elementary education for all children between
the age group of 6-14 years. (ii) Right to be
protected from any hazardous employment till
the ape of 14 years (iii) Right to be protected
from being abused and forced by economic
necessity to enter occupation unsuited to their
age or strength (iv) Right to equal
opportunities and facilities to develop in a
healthy manner. lowever, despite having so
many legal instruments the children in India
are still not secured. Several indicators are
showing how the Child Rights are being
vinlated in different parts of our country whose
plausible social and economic consequences
would be more dangerous. Child Abuse is
another dangerous part of erosion which
silently kills the potential and development
spurt of many children. We still live in a
tabooed society in our country, where no-
proper

sex education is provided to the children.
Children get molested and abused bul due to
ignorance, they fail to protest and keep on
becoming victim of exploitation for long.

1992 ¥ ¥gw g & uw afbew wesdt
sfawwa (g v am #) & argEmds & ag
A 3 TRy w s S i geemE S g
g gfym fem f 18 of & =w amg &
vas wmhs, e deuw v dwor =
ATaTEE §, T | TH WA S T e &
aTe At dvaror amam afifram, 2005 &
ga e 2007 ¥ e wre ifrer g
(U 4t 3w | @ e @ o dh
\TTA ST Hien= Tt awet @t Ho S wi
yaargfa 2m ¢ frad wfwfra §- () 6-14 ad
= arg =t F wft Tt & o gew el
atfard rifives frer =1 afiram (i) 14 ad =5
g 7 foelt oft waers e | geive w
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T e (i) 3@t amg ar wifw & fag
IUYT ORI W WA WA W anfde
wfrardaadt fm o= vimw @ dfim B =
atfirem (iv) e =i @ frefte =0 & fag
wwT s af glerurett & arfirem grets,
TAA T A JEUE B & amEeg W §
=2 anft oft gl Tt & = e T Tl
® f s ot T & fafiw wmif F amw
sftrert &1 fvm o Irres fem o T &
s smuewdifes wnfye o anfifs
it atfires @A gEn arer 9@ i
§UT & U @A T € W e =
T @t v offt 3 faerw @t et @y h
# wuTe Far g g I oft s Q¥
afdfs T ¥ e €, T a=dl s 3w o
forarr = & ot §1 Tr=a & Wy OTaTh afn
a3 vimor grar § @fes sgmEa & sno |
foriy = # amAwe wa £ ot W v w
viraur =1 o 7= A

Child abuse occures in India but is not
reported and children fail to protest because

arer A yirgor wrtw § gy § ooy whafem
fimar wmr § o @=R g w0t ¥ freer R
£ =ifs-
(a) Child rights are being violated
T sl @ & R s @ )
(b) Children are ignoranta=l FH! €1
(c) Children are not vulnerable/a=d 3 @1 &1
(d) Children don't have any right
aedl @ 3 w3
Ans. (b) : 9IS @A WU 9RA § S 21 W Weaia,
T o T @) ek T fdw FR F ReE @ d)
FilfF 7= 3 2
TS A e, =8 R A= & T gEerE W 3@ I
2, 3 W um @ w93 el s awe W o
= 4R I & fIe uF 99 @ I9Em F@ T
o virer &% wen @ B F @ www ¢, Rl w
E W T (I WHE WG e 5 3w ) mine 21
ma fam § 5 R, T sk g smR TS E
FAAR =i 20 5 o 21 380 o-fa, iR &
il 7 3l fie-uss wEer el A= wftE 3
92. Thisis NOT the right of a child.
g et W At T &
(a) Right to be protected from any hazardous
employment till the age of 16 years/16 a4 &t
g & fEE o @aeTs e ¥ qidE @
F1 IR
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(b) Right 10 be protected from being abused and
forced by economic necessity to enter
occupation unsuited to their age or strength/

T Ay 7 wfE & fw =aag §
Yaw A &) anfdsw sfvardmsi ai A g
® A o @

(c) Right to equal opportunities and facilities to
develop in a healthy manner/&ET s #

ferfim @ % forg oo srEwd stk gl
F AfUER

(d) Right to free and compulsory clementary
education for all children between the age

group 6-14 years/6-14 aﬁeﬁrargaﬂésm
ﬂﬁ%ﬁqﬁﬂﬁaﬂ‘{ﬂmmm
&1 AR
Ans. (a) : 16 T4 3 ag 7% el ff weTS TR A
i @4 & IR 77 T & a8, s
14 = 1 g 7% R f wEe S R goRE e
& a2 A 5 16 ad)

93.

Right to free and compulsory elementary
education for all children covers the children
between the age group of

it meal & fau qua afw afrard wrifies
fren & arfreem § form oy wnf & el W@
wftafera faar mar §2?
(a) 3-18 years/3-18 @
(b) 3-6 years/3-6 T
(c) 6-14 years/6-14 =4
(d) 6-18 years/6-18 @
Ans, (¢) : T T F fIT g 3l afrard i fwn
F At F 6-14 af & a=a1 3t afafem B man ¢
ST 21-7 3R AR SfutEm | aek, 2010 F:
g e sty % e Widw 4 fyes sl
sfrard y= wiafem 31 s Am @ oard @ @ 75
et o ol 0% gm-fer 7@ e § ofew
2, W TrE ¢ T, 9 I WER T T
; o =it O o TR @1 =99 S SR e
@A 3 qU A A A WF o A & Ry
ToRerl T8 @) wREd R 3R sER ek e
aimERal W 6-14 3 wE & W =@ @ W=,
IuRaf 3R wHiYE R # @ FRA & a7
wffsn & @ am w@d 8l g8 dwdl & dies
A §)
o @ Afufam @ i am Py ok sPed 9@
firn @ st st 2009 4
v faem wgof wim ot dmm
W sfufgn & T wEE, AT Eeensd sk g
uiifs Rmen w29 @ anh Y dwEl @ ang
gt
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The full form of UNCRC is

94,
‘g @ i am " @ gui ww &
(a) Union of Nations for Child Rights
Convention/3f757 3% Aviw &R aes W
T
(b) United Nations Child Right Commission
FAEeE W aEes T FHYH
(c) United Nations for Child Resource
Commission/q5es AV R 3 Wes Rard
TR
(d) United Nations Convention on the Rights of
the Child/ZAT52E AWM FHYA 37 g Teq
i T InTe
Ans. (d) : UNCRC & wf &9 United Nations

Convention on the Right of the Child/ FAes v
FAve 3 2 TiEE Wi T dger & IR | &
FER 18 ot ® FW oy W WRE AW awa 81 R
FEA T O WY A 9w A "t B omn @
T, fafm @A aar asAsl § faEm woa qw
g & IR 7wa & im0 § oftwfiw fE
™ &

e aftre- 18 af A T g T guE = & f
e W 4T ST ANER 9 AER 2

g Ffmr g, s, Fo o, s o, o dwEm,
wWfE & 7 3 T & MM W sevE fFu
AU Tedl | A9H &9 A an) 1 el @ of a@g
& WAA EW 2F e A TR

9 AfbERt F (UNCRC) o R & gde fn mn
g R owm zmoaf 1992 F sifga Renm mm
(UNCRC) A 54 3r=d &1 Iwo@ a1 Rl @
svmrd & Prvom T @ S g1 3 e @
Fret 4 it % SR H8fm far s o 21

| Sifom @A @ ofuwn, BTEm @ shEn, g @
HATHR, TR 1 AR

UNCRC- %9 Ug 89 7 1989 & siffigm faan o1 fows
?mhﬁum%aﬁi%mﬁaﬁmaﬂhmm
|

o 7 = HfiEn

o 375 fFm F T SnEl § g 1 3ER

o wifts a aefhs et & fam @ e

95,

Which is one of the dangerous things done to
the children that silently kills the potential and
development spurt of many children?

wesil & yie & 7 weaETs =i § @ e
t A suww & @t @ g ofw Rrema @
FET T AT T wmTeA wer §?

(a) Child abusesata wirgu

(b) Child protection/aTdl HE&

(c) Child rights/arel 31fU=R
{d) Sex education/dA famm

Ans. (a) : 9=61 & ¥ & W gAH e §
WMvT (Child Abuse) T& quam &¥ awdl @i
fmmra & T F ao A TS F 2 R F
WU @ & aEeE Wi f aw anf
F3 Hoh 98 9 @ € S e

79

quary ¥ i S g 3R I fe & e e
d |qUTE FO 21 gd IS f A 9 F uF Al wue
4 wa §, 5 a=at @ Ifaw a9 fmp af & sl
Fdl & WY FzEE it o viww @ #1 A amE
F Fn0 3 fda F3 ° see @ ¢ s e s T

viraw & R @ g

Read the passage carefully and answer the
question:

Tty = wrgds g 3t ye = oIew E

New technology does not remove the need to
employ systematic approach to Communication
for Development. Well-designed mobile content
is often informed hy local tastes so that people
can identify with the content. The content

needs to be ‘sticky’ so that the user wants to

return to it again and again. It could he
conveniently used by frontline social workers,
easily understood hy the masses and easy (o
recall.

Creative techniques are wused to make
educational content enpaging and entertaining.

'Mobile kunji', an innovative audio visual job

aid developed by BBC Media Action for use by
front line health workers is one such example,
that features an empathetic yet authoritative
female doctor character, Dr. Anita, who
‘speaks’ to rural families. She is designed to he
both trusted and respected by community
health workers and families alike.

The audio message from the doctor is followed
by rhyming couplets, punctuated by drum
beats and the sound of a stringed instrument,
which function as n mnemonic for key health
messages. This rhyme is about preparing for

delivery: "Keep three phone numbers in mind:
Hospital, transportation and community health
worker. To keep tension at bay: Plan as we
say!”

The audic message is motivating health

workers too. A nurse midwile in Samastipur,
Bihar was surprised that someone was giving
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such an expert advice in her local language,
'even though she is n doctor and educated, she

was speaking in Bhojpuri!’, another community

health worker summed up, “I have learned how

to explain things in simple and easy language.
Now, | can explain the content to the

heneficiaries in the same way®,
Localized content is thus crucinl for achieving
it's much

harder to take context-specific content to scale
across disparate geographical regions.

B &mmﬁmm
Tanm F e wE # smavaEsw @ [
aFf =t {1 et A ® afusfaw dana
wrift T g v el & g ghaw fwm
W § Wi S wmmi @ uEes & 66l
wlt W EEEEr g iy wifEs Iuameai
Y= I/ O Yearad el Sngl ag WA |
afim dfis &% wrmfwes wrfwatad gro wdh
foran o wamar &, AT | AT BT wWET 9
TeHaT ¢ 3fT srgEmw g v &

TS AdATa &1 3garm ifers anofi =
e 3l TR @ & Ry fea s &
‘v Hh', AT wu-ss @
s § o dEd fifear @ & afim dfs
& wrmias Srd@ats gro warT gq fawiaa
foran man &, uw v off sEeTw &, T o
waryfevfer g gu oft anfiefts wiven
faferms, = arfm, =1 anfror oftard & faa
‘wterdt’ € it weEe w1 @ 39 e # wet
£ s o mmeen SrdEAta aft oftar
BT U&H N B9 # I o e v I
ey 2 famar = waa

fafermres ¥ wna w=7 #2397 & ULTA Iuaw &
wty ¥ finftm deeg fiudt ofw aw anets =t
¥R yqE wren @i & fag o -
TEOE & &d H@AT {1 Ay wieAr wHT @
farft & =t ¥ §: o goee demed = e
i i fafeerea, wae st amgefie
T Wt T @ gY@ & e - S
o g =ga € & ity

o Ty T St @t ot 3w w b
fagn & waedigr o ww oftarfiEr < & 3@
ua | angrd gon fd = areft wrira wmar W
ot Zor womE 2 T R, v f we fafeers
afrt fnfir 3, Sifeem ag wieglt & are & o,
US 30 WEiaE e wrdeat 3w

resonance with users. llowever,

forar, 9 <t = wve i ImET wnar o
T dra forar £ ara, & emaftfal &t It
wE | Wit F e w wwa gl
W YEN WHEEE anmit yheei & e
wineafy ure &3 & forg wgrqut &1 wreifE,
= dfimiiferss 8= F mo #q dedd-fafie
wrlt w1 aga Wi §
Which three numbers are needed to be kept in
mind?
form = demt & v § s @) w82
(a) Doctor, Neighbourer and BLO

fufrmrs, gerd sk fi.ga.an,
(b) Hospital, BLO and medical store

fafrrarera, = ae.sh, oit za & g@m

(c) Hospital, transportation and community

health workerfaffrarers, wREgs st
TR @wRes FrE
(d) Sarpanch, transportation and ward member/

Ans. (c) : fofsmmea, witag ot wafus @
FTdadal
I fm w0 vl 2 fma = f oA § @ @
T 2
@ @ & A S @ J = SR O ar @
¢ WA T @ 81 3R I9% g@ @ @ 9 T
Ml @ qia fafheaad 9§ srdi | oR la § e w e
1 oftag gfaard 31 @ 39% AN § 9% IEE0 FH qia
@ S @1 9ET S 3R AEiE @ne e &
M & U] e I AT T Je T I
399 W T B

97.

96.

‘Mobile kunji’ is an innovative audio visual job
aid developed by:

T Wa-y wE WEAE W
Foft! R gror Rrefer ot et &

(a) All India Radio/3TTeramit

(b) BBC Media Action/d1 &1 i fifgar Frd

(c) Bihar state government/f#@R T F@ER
(d) Women and Child welfare Department
i UE & dedre e

Ans. (b) : UF TAMAG FYE-90 FT4 WEGF H=AE il
@ &t @ At ad T Rfem 3 T 2
Wy @ fvm & me wfeensdi & i A da
T & T BF & AR uE T 7 Ene gRed § R
§ W IR O99-T79 W IS o ard 2, 309
R TR R, TYae ¥ e awd & 9 9% A
T AT WA % A § wleesd § e w4 &

FEYE § WO Feanwn ez gE G s
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I, T2 R a% aaw W, Eatrmﬁa%ﬁﬁ[[
1 FO0 IR, W vd oo, 9l A T9E
T A Hafta & | 2

98.

The characteristic features of context specilic
content for communicalion are=
wn ¥q wed fafye wft @t sftemsfire
fardraamd §-
A. It cannot be scaled up
3R =grar T . wwmm
B. [t cannot be used in all states/s8 w+ft Troai
o gemTer T fwar = waar f
C. It will be equally valid in all states
g wft Al | A T/ A g
D. It can be scaled up easily
TH SRR | @I A wEar )
E. It is very powerful for hehaviour change

communication/@g STAEN uftad= d=m &
fore mge wivwomett &

Choose the correct answer from the options
pogiven below:

| ﬁﬂqwﬁwﬁﬁﬁwﬂmqﬁa
{a]AﬂCoﬂyﬁﬁaABc :
(b) A, B, D only/#ae A, B, D
(c) B,C, D only/da B, C, D
(d) A, B, E only/&9d A, B, E
Ans. (d) : F2d fafte gl 3 sfemite R 21
A58 agr T8 S W )
B. 3 oft vt & smra 7 o o1 w2
E. 9% FagR Wiada SR & forg wgn wfteened 41

29.

Making the content "sticky” means-
|t @ e ' @ OAe g

(a) Making it complex enough to be understood

by the doctors onlyF® Waf@ sféw & &%

(d) User wants lo return to it again and
again/3TATET YA IW W WA He
e 21

Ans. (1) : T TN THAW a7 W AeE ¢ | STGETEH
T4 3 NEdA S 9w 2

arft @ FHEE a4 & maed fed faged @ faoem
& o A ar fored @ A

100. Mobile Kunji has a potential to be used as-
wrase S W g ¢ T W i 3w e
B w-

A. Capacity building tool for the health
workers/ T Hitfal & feng anwar Profor

Jqeh{oT

B. Tool to educate health workers/@&mra
it = ffam =7 & forg T

C. Toal to inform only health workers/&has
e wittal & giaa s & fang
JqehTuT

D. Tool to inform people diretll_vfi'-fﬂﬂ" =

ey WY H gl s & fag seamm

Tool to educate masses only/3a FTAT T

Wm&%fﬁqm

E.

‘ Chnmo the curm:t qnswer l'rom ttle options

'gnrn befow: 1 ° I

e fg o Pt o @ Tt T9T oA
(a) A, B, C only/&ae A, B, C
(b) A, B, D only/&aw A, B,D
(c) A, C,Donly/&ad A,C, D
(d) B, C, D only/&a B, C, D

Ans, (b) : A o0 § w3 B Iww WA W w9
LR C

A. @ St & g s P g

B. T@ren Ffdl & g frfim & & fag s

C. Tl = ¥ 9 / gfem FE § Ie

AT gt @ @ @ ofife zno e T EEE ) T
ol & S g 21 e WrAw @ S & EW A

(b) ‘:Suiﬁ: an the EbTu:ichfsl wfeemsil i Fafer e e 21
sauéaﬁmmﬁqtvﬁ;ﬁmf:ml 3R T-Th Al # AW SO aW T @A
(c) The message should be abstract FhE # que P s & w9 F 5 2w
=W B g e A St Tew w9 8 ol o 8
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